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Y=245 (dx=-1.7e-01, do=1.7e-02)

f=6, X=3987.5

Y=491 (dx=-1.7e-01, do=2.4e-02)

e Residual*s
= Trace

pfsArm -1 pfsArm
| = (x=3992.36,0=130) | = x=3989.57,0=131)
1 calExp 1 calExp
— (x=3992.20, 0=1.32) = (x=3989.40, 0=1.33)

e Residual*5
== Trace

Y=1228 (dx=-9.3e-02, do=-1.1e-02)

Y=1473(dx=-7.9e-02, do=-2.8e-02)

pfsArm
| =™ (x=3984.38,0=129)
calExp
= (x=3984.28, 0=1.28)
= Residual*5
= Trace

pfsArm
| ™ (x=3983.48,0=129)

calExp
= (x=3983.40, 0=1.26)
-1 = Residual*5

= Trace

Y=2210 (dx=-4.2e-02, do=-1.9e-02)

Y=2456 (dx=5.4e-01, do=1.4e-01)

pfsArm pfsArm
I = (x=3982.99, 0=1.25) = (x=3983.46, 0=1.26)
1 calExp calExp
= (x=3982.95, 0=1.23) | = (x=3984.00, 0=1.41)
- e Residual*5 e Residual*5

= Trace

= Trace

1
1
- I —
A
T T 1 T T T 1 T
Y=3193 (dx=-5.1e-02, do=-9.4e-03) Y=3439 (dx=-4.1e-02, do=-1.6e-02)
pfsArm T pfsArm

| = (x=3987.17, 0=125) | = (x=3989.23, 0=125)
I - f}?I:E;QPSTIZ, 0=1.24) I = (c:I:E;gSQ 19, 0=1.23)

e Residual*5

3980 3990 4000

3980 3990 4000

Y=736 (dx=-1.9e-01, do=-8.1e-03)

pfsArm
| ™ (x=3987.39,0=130)
1 calExp

= (x=3987.19, 0=1.30)
= Residual*5
== Trace

Y=1719 (dx=-6.4e-02, do=-3.5€-03)

-1 I fsArm
1 = (x=3983.00, 0=1.26)

1 calExp
= (x=3982.94, 0=1.25)

e Residual*5
= Trace

1
Y=2702 (dx=-4.5e-02, do=-2.7e-02)
I pfsArm
- I —(x=3984.32, 0=1.26)
I r— (c:f;spaua, 0=1.23)

e Residual*s
== Trace

Y=3684 (dx=-1.1e-02, do=4.0e-02)

pfsArm
| = (x=3991.73,0=127)

| calExp

= (x=3991.72, 0=1.31)
e Residual*s

= Trace

3980 3990 4000

Y=982 (dx=-9.6e-02, do=-4.0e-03)
T

pfsArm
| ™ (x=3985.64, 0=1.31)
1 calExp
= (x=3985.54, 0=1.30)
m—_Residual*5
== Trace

Y=1965 (dx=-4.3e-02, do=-1.6e-02)

- I pfsArm
| ™ (x=398275,0=129)

calExp
= (x=3982.71, 0=1.27)
e Residual*5

== Trace

Y=2947 (dx=-3.4e-02, do=-2.5e-02)

pfsArm
| = (x=3985.52, 0=1.26)
1 calExp

(x=3985.49, 0=1.24)
e Residual*5
== Trace

1
Y=3930 (dx=-1.9e-02, do=4.7e-02)

T pfsArm
1 = (x=3994.93, 0=1.25)

- | calExp
= (x=3994.91, 0=129)

e Residual*5
== Trace
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Y=245 (dx=2.2e-02, do=1.1e-01)

f=7, X=3981.1

Y=491 (dx=6.9e-02, do=2.8e-02)

pfsArm
= (x=3986.28, 0=1.52)

calExp
_(x= 3986 30, 0=1.63)

e Residual*s

1

= (x 3983 28, 0=1.57)

— (x=3933,35, 0=1.60)
== Residual*5
= Trace

i

Y=1473 (dx=-6.0e-02, do=-5.9e-02)

pfsArm
= (x=3978.29, 0=1.57)

calExp
= (x=3978.32, 0=1.56)
= Residual*5

== Trace

pfsArm
= (x=3977.28, 0=1.58)

calExp
—(x=3977.22, 0=1.52)
= Residual*5
= Trace

e

Y=2210 (dx=6.2e-03, do=-6.5e-02)

Y=2456 (dx=5.4e-02, do=-9.2e-02)

I pfsArm
| = (x=3976.38, 0=1.70)

calExp
== (x=3976.38, 0=1.63)

e Residual*5

pfsArm
= (x=3977.27, 0=1.55)

calExp
(x=3977.33, 0=1.46)

e Residual*5

= Trace

Y=3193 dX 3.6e-02, do=-7.5e- 02

'r;f"

LAY

pfsArm
= (x=3980.39, 0=1.78)

calExp

(x=3980.43, 0=1.71)
= Residual*5
== Trace

pfsArm
= (x=3983.24, 0=1.58)

calExp
= (x=3983.22, 0=1.58)
e Residual*5
= Trace

3970 3980 3990

3970 3980 3990

Y=736 (dx=-6.3e-02, do=5.2e-02)

pfsArm
= (x=3981.27, 0=1.53)

calExp
= (x=3981.21, 0=1.59)
= Residual*5

== Trace

i

Y=982 (dx=1.4e-01, do=-9.2e-02)

Y=1719 (dx=2. 9e- 02, do=-8.9e- 02)

h

pfsArm
= (x=3979.22, 0=1.65)

calExp.
= (x=3979.37, 0=1.56)
= Residual*5

T fsArm
. | (x=3976.36, 0=1.72)
calExp
= (x=3976.39, 0=1.63)
mm—= Residual*5
= Trace

Y=1965 (dx=7.2e-02, do=-9.2e-02)

fsArm
= (x=3976.29, 0=1.66)
calExp.
= (x=3976.36, 0=1.56)
e Residual*5
=== Trace

I pfsArm
= (x=3978.22, 0=1.57)
i calExp
(x=3978.26, 0=1.51)
= Residual*5
= Trace
-

Exp,
- (x:3979.33, 0=1.50)
m— Residual*5

Y=2947 (dx=4.1e-02, do=-1.0e-01)
== Trace

i
LA

pfsArm
| = (x=3985.37, 0=158)

calExp
= (x=3985.39, 0=1.62)
e Residual*s
- Trace

1 1]

—_— (x 3979 29, 0=1.60)
Y=3930 (dx=-2.5e-02, do=7.9e-02)

pfsArm
| = (x=3988.47, 0=1.50)

calExp

(x=3988.44, 0=1.58)
= Residual*s
== Trace
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Y=245 (dx=2.7e-02, do=-7.0e-02)

f=8, X=3974.9

Y=491 (dx=-1.1e-01, do=-3.3e-02)

pfsArm
= (x=3978.60, 0=2.04)
calExp
- x= 3978 63, 0=1.97)
s Residual*s
== Trace

7| == Residual*5

pfsArm
= (x=3976.93, 0=1.52) 1

calExp
_(x= 3976 82, 0=1.49)

== Trace

Y=1228 (dx=3.8e-02, do=-7.2e-02)

pfsArm
= (x=3970.65, 0=2.07)
calExp
= (x=3970.68, 0=2.00)
e Residual*5

== Trace

T pfsArm
1 = (x=3970.95, 0=1.47)

calExp
= (x=3970.85, 0=1.41)
= Residual*5

w— Trace

pfsArm
= (x=3970.08, 0=1.67) 1

calExp
m—(x=3970.09, 0=1.63)
= Residual*5
= Trace

L

pfsArm
= (x=3970.97, 0=1.42)

calExp
= (x=3970.93, 0=133)

e Residual*5
= Trace

L)

Y=3439 (dx=-4. Te- 02, do=-4.8e- 02)

pfsArm
= (x=3974.20, 0=1.69)
calExp
= (x=3974.16, 0=1.64)
= Residual*5
- Trace

o T E
- = (x=3976.20, 0=1.72) 1

calExp
= (x=3976.15, 0=1.67)
= Residual*5
- Trace

3960 3970 3980 3990 3960 3970 3980 3990

Y=736 (dx=9.4e-02, do=-1.1e-01)

Y=982 (dx=-9.9e-02, do=-5.6e-02)

pfsArm
= (x=3973.54, 0=2.09)

P
= (x=3973.64, 0=1.98)

T pfsArm
1 = (x=3972.98, 0=157)

calExp
- x= 3972 88, 0=1.52)

e Residual*s
== Trace

pfsArm
— (x 3969.99, 0=1.73)

— (x=3969.97, 0=1.68)
= Residual*5
== Trace

pfsArm
= (x=3970.08, 0=1.58) 1
calExp
= (x=3970.00, 0=1.54)
= Residual*5
= Trace

Y=2702 (dx=8.1e-02, do=-5.7e-02)

Y=2947 (dx=-7.3e-02, do=-6.2e-02)

pfsArm
= (x=3970.56, 0=2.06)

pfsArm
= (x=3973.02, 0=1.41)

calExp
= (x=3972.95, 0=1.35)

e Residual*5
== Trace

Sl

Y=3930 (dx=-1.1e-01, do=1.1e-01)

pfsArm
— (x=3979.11, 0=1.43)

calExp
™ (x=3979.00, 0=1.46)
e Residual*5
= Trace

T pfsArm
| ™ (x=3982.19,0=1.42)

calExp
= (x=3982.08, 0=1.53)
m—Residual*s
- Trace

3970 3980 3990
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Y=245 (dx=-1.4e-01, do=6.1e-02)

f=9, X=3968.6

Y=491 (dx=-1.3e-01, do=4.3e-02)

pfsArm
| = (x=3973.54, 0=127)

-1 1 calExp
= (x=3973.39, 0=1.34)

w— Residual*5
= Trace

T pfsArm
| ™ (x=397078,0=127)

— 1 calExp
= (x=3970.66, 0=1.31)

m— Residual*5
== Trace

Y=1228 (dx=-8.8e-02, do=7.1e-03)

Y=1473 (dx=-7.0e-02, do=-2.9e-03)

m—— Residual*5
= Trace

N I pfsArm pfsArm
| = (x=3965.66, 0=1.27) | = (x=3964.78, 0=1.26)

1 calExp 1 calExp
— (x=3965.57, 0=1.28) = (x=3964.71, 0=1.26)

m—— Residual*5
- == Trace

Y=2210 (dx=-4.0e-02, do=-7.2e-03)

Y=2456 (dx=-1.8e-02, do=-1.5e-02)

pfsArm
| =™ (x=396429, 0=125)

1 calExp
m—(x=3964.25, 0=1.24)
m—— Residual*5
w— Trace

pfsArm

| ™ (x=3964.75, 0=124)
1 calExp
. = (x=3964.74, 0=123)

m— Residual*5
= Trace

Y=3193 (dx=-3.2e-02, do=5.1e-03)

1
Y=3439 (dx=-5.9e-02, do=4.9e-03)

T pfsArm

T 1 m—(x=3968.40, 0=1.25)

| calExp
m—(x=3968.37, 0=1.26)

w— Residual*5

- Trace

T pfsArm
| ™ (x=3970.43,0=125)

| calExp

(x=3970.37, 0=1.25)
m— Residual*5
- = Trace

3960 3970 3980

3960 3970 3980

Y=736 (dx=-1.7e-01, do=2.5e-02)

T pfsArm
| ™ (x=3968.63,0=128)

- 1 calExp
= (x=3968.46, 0=1.30)

m—— Residual*5
== Trace

Y=1719 (dx=-7.1e-02, do=8.0e-03)

I fsArm
| ™ (x=3964.30,0=125)
1 calExp

= (x=3964.23, 0=1.26)

m——Residual*5
= Trace

- m——Residual*5
= Trace

Y=2702 (dx=-3.1e-02, do=-2.2e-02)

I pfsArm
| ™ (x=3965.60, 0=125)

- 1 calExp
= (x=3965.57, 0=1.22)

m——Residual*5
== Trace

Y=3684 (dx=-5.3e-02, do=2.9e-02)

T pfsArm
| = (x=3972.90, 0=125)
- | calExp

= (x=3972.84, 0=127)
m— Residual*s
- Trace

3960 3970 3980

Y=982 (dx=-9.7e-02, do=1.3e-02)

pfsArm
1 = (x=3966.98, 0=127)

calExp
= (x=3966.88, 0=1.28)
— Residual*s
== Trace

Y=1965 (dx=-4.7e-02, do=8.3e-03)

I pfsArm
1 = (x=3964.14, 0=1.25)
1 calExp

= (x=3964.09, 0=1.26)

Y=2947 (dx=-3.1e-02, do=-9.9e-03)

I pfsArm
| ™ x=3966.78, 0=1.25)
1 calExp

= (x=3966.75, 0=1.24)

m——Residual*5
== Trace

Y=3930 (dx=-1.7e-02, do=6.8e-02)

pfsArm
1 = (x=3976.04, 0=1.25)

| calExp

(x=3976.02, 0=1.32)
m— Residual*5
== Trace

3960 3970 3980 3990
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Y=245 (dx=4.0e-01, do=7.6e-02)

f=10, X=3962.4

Y=491 (dx=8.6e-01, do=-2.8e-01)

Y=736 (dx=3.0e-01, do=8.6e-03)

pfsArm
= (x=3968.53, 0=1.54)

calExp
= (x=3968.93, 0=1.62)
m— Residual*s
== Trace

I

= (x=3964.88, 0=2.08)

calExp
— (x=3965.73, 0=1.79)
= Residual*5

== Trace

S

L

— (x 3963 51, 0=1.75)

— (x=3963481, 0=1.76)
= Residual*5
== Trace

Y=1719 (dx=1.1e-02, do=>5.3e- 02)

Y=1228 (dx=1.1e-04, do=5.5e-02) Y=1473 (dx=2.0e-01, do=-1.2e- 01)
T T
E 1 u L | I <:5§953 89, 0=2.13)
1 T 1 | cabxp
(x=3959.09, 0=2.00)
I — I mm Residual*5
I (x 3960 50, 0=1.87) I - Trace
1 ((xafaxgeo,so, 0=1.92) - 1
1

= Residual*5
w— Trace

1T

fsArm
™ (x=3959.86, 0=1.60)

calExp
= (x=3959.87, 0=1.66)
e Residual*5
= Trace

|

Y=2210 (dx=-6.4e- 02 do=7.5e- 02)

Y=2456 (dx=1.9e-01, do=-1.4e-01)

Y=2702 (dx=-3.3e-01, do=8.5e-02)

I pfsArm
= (x=3959.81, 0=1.70)

calExp
= (x=3959.75, 0=178)

= Residual*5
w— Trace

pfsArm
= (x=3958.99, 0=2.14)

calExp
= (x=3959.18, 0=1.99)
e Residual*5
= Trace

(I

11l

~ (x 3950 40, 0=1.95)

Exp
m— (x:3960.07, 0=2.04)
e Residual*s
= Trace

o

Y=3439 (dx=2.3e- 01 do=-9.1e- 02)

Y=3684 (dx=2.1e-01, do=1. 3e- 01)

calExp
= (x=3962.64, 0=1.67)

Y=3193 (dx=4.7e-02, do=-2.1e-02)
w— Residual*5

pfsArm T
= (x=3962.60, 0=1,69) 1

- Trace 1

1
1
- — n ].‘r.ll.'l - -
1
T T T

L

T

|

1

| pfsArm
1 || (x=396519,0-2.00
1

1

calExp
= (x=3965.42, 0=1.91)

= Residual*5

== Trace

i

T pfsArm
I | |= (x=3966.64, 0=1.98)
| calExp
= (x=3966.85, 0=2.11)
I = Residual*5
- Trace
- —— -t ] —

3950 3960 3970

3950 3960 3970

3980 3950 3960 3970 3980

Y=982 (dx=3.3e-01, do=4.2e-03)

| lJ |
pfsArm

= (x=3960.85, 0=2.07)

calExp
= (x=3961.18, 0=2.08)
= Residual*5

== Trace

. '1"| 1

| —

Y=1965 (dx=9.3e-02, do=5.8e-03)

fsA
T (x 3957.49, 0=2.21)

calExp
= (x=3957.58, 0=2.22)
e Residual*5

== Trace

| =
At

AL

Y=2947 (dx=6.8e-02, do=-1.1e-01)

pfsArm
= (x=3960.81, 0=2.19)

calExp

(x=3960.88, 0=2.08)
e Residual*5
w=  Trace

155

=

Y=3930 (dx=1.1e-01, do=2.6e-01)

pfsArm
= (x=3969.73, 0=1.67)

calExp
m—(x=3969.84, 0=1.94)
m——_ Residual*5
= Trace

_P:E:_
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Y=245 (dx=-1.2e-01, do=4.6e-02)

f=14, X=3937.4

Y=491 (dx=-1.0e-01, do=3.2e-02)

pfsArm
| ™ (x=394224,0=128)

1 calExp
= (x=3942.12, 0=1.33)

e Residual*s
= Trace

pfsArm
| ™ (x=3939.55, 0=129)
1 calExp
= (x=3939.45, 0=1.32)
m— Residual*s
== Trace

- T pfsArm

Y=1228 (dx=-8.4e-02, do=6.2e-03)

Y=1473(dx=-9.9e-02, do=-4.0e-03)

e Residual*5
= Trace

I fsArm 7 I pfsArm
| = (x=3934.55,0=1.28) | = (x=3933.69,0=127)
1 calExp 1 calExp

— (x=3934.46, 0=1.29) = (x=3933.59, 0=127)

e Residual*5
= Trace

calExp
- = (x=3933.12, 0=1.26)

1
Y=2210 (dx=-5.7e-03, do=-3.9e-02)

Y=2456 (dx=-2.2e-02, do=-2.6e-02)

m—(x=393322, 0=1.22)
= Residual*5
= Trace

pfsArm pfsArm

I = (x=393323 0=1.26) | ™ (x=3933.67, 0=125)
1 calExp - calExp

m—(x=3933.65, 0=1.23)

e Residual*5
= Trace

e Residual*5

1 1

Y=3193 (dx=-6.2e-02, do=1.4e-02) Y=3439 (dx=-4.1e-02, do=5.6e-03)
T pfsArm T pfsArm
| = (x=3937.23,0=127) i | = (x=3939.21, 0=125)
I r— (CEI:E;QP37.17, 0=1.28) I — (c:I:E;Qp39 17, 0=1.25)

e Residual*5
= Trace

3930 3940 3950

3930 3940 3950

Y=736 (dx=-1.2e-01, do=-1.5e-03)

| ™ (x=3937.44,0=129)

calExp
= (x=3937.32, 0=129)
m— Residual*s
== Trace

Y=1719 (dx=-1.1e-01, do=-8.2e-03)

pfsArm
1 = (x=3933.23, 0=127)

e Residual*5
= Trace

Y=2702 (dx=-1.6e-02, do=-3.0e-02)

pfsArm
| ™ (x=3934.50, 0=125)

calExp
m—(x=3934.48, 0=1.22)
e Residual*s

-1 = Trace

1
Y=3684 (dx=-3.8e-02, do=2.3e-02)

pfsArm
| ™ x=3941.62,0=125)

calExp
= (x=3941.58, 0=127)
- = Residual*5
- Trace

3930 3940 3950

Y=982 (dx=-1.2e-01, do=3.3e-03)
T

pfsArm
| ™ (x=3935.77,0=128)

1 calExp
= (x=3935.65, 0=1.28)

— e Residual*5
== Trace

Y=1965 (dx=-5.6e-02, do=2.0e-03)

I pfsArm
1 = (x=3933.08, 0=1.26)
1 calExp

- = (x=3933.02, 0=1.26)

e Residual*5
= Trace

1
Y=2947 (dx=-6.2€-02, do=-1.7e-02)
I pfsArm
. | = (x=3935.65 0=1.25)
| — caxp
(x=3935.59, 0=1.23)

e Residual*5
== Trace

Y=3930 (dx=1.4e-02, do=1.3e-01)

pfsArm
| ™ (x=3944.62,0=125)

| calExp

= (x=3944.63, 0=1.38)
m—Residual*s
- Trace

3930 3940 3950 3960
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Y=245 (dx=4.0e-01, do=1.6e-01)

f=39, X=3781.7

Y=491 (dx=3.4e-01, do=1.4e-01)

T pfsArm
= (x=3783.70, 0=1.88)
calExp
= (x=3784.10, 0=2.04)
—_ Residual*5
= Trace
— e

Y=1228 (dx=2.4e-01, do=1.7e-02)

T pfsArm
(x=3781.96, 0=1.77)
calExp
= (x=3782.30, 0=1.90)
e Residual*5
T = Trace
. —
T

pfsArm
= (x=3778.39, 0=1.59)

T
calExp
= (x=3778.64, 0=1.61)

= Residual*5
&

i Trace

pfsArm
= (x=3777.04, 0=1.73)

calExp
= (x=3777.26, 0=1.88)
= Residual*5

Y=2210 (dx=2.7e-01, do=1.7e-02) Y=2456 (dx=2.6e-01, do=8.7e-02)
J I pfsArm pfsArm
1 m—(x=3777.32, 0=1.52) = (x=3777.18, 0=1.75)
calExp calEx

(x=3777.58, 0=1.54)
e Residual*5
w— Trace

P
(x=3777.44, 0=1.84)
e Residual*5
= Trace

Y=3193 (dx=2.2e-01, do=4.2e-02)

pfsArm
= (x=3780.18, 0=1.80)

calExp

(x=3780.40, 0=1.84)
e Residual*5
| Trace

-

Y=3439 (dx=2.3e-01, do=1.2e-01)

b T
pfsArm
| ™ (x=3782.30, 0=1.59)
| calExp
= (x=3782.54, 0=1.72)
- = Residual*5
- Trace
4 p.[l - I:I_

3770 3780 3790

3770 3780 3790

Y=736 (dx=2.9e-01, do=1.7e-01)

l

pfsArm
= (x=3779.72, 0=1.80)
calExp
= (x=3780.02, 0=1.97)
— Residual*s
== Trace

Y=1719 (dx=3.0e-01, do=1.9e-02)

pfsArm
= (x=3777.31, 0=1.53)
calExp
= (x=3777.62, 0=1.55)
= Residual*5
== Trace

pfsArm
= (x=3778.47, 0=1.55)

calExp
(x=3778.79, 0=1.53)

e Residual*s

== Trace

Y=3684 (dx=1.9e-02, do=>5.4e-02)

- |

pfsArm
= (x=3785.10, 0=1.48)

calExp
= (x=3785.12, 0=1.53)
e Residual*s
= Trace

3770

3780

3790

3800

Y=982 (dx=4.0e-01, do=7.6e-02)

pfsArm
| ™ (x=3779.18,0=163)

calExp
= (x=3779.57, 0=1.71)
m— Residual*5

== Trace

]

Y=1965 (dx=2.0e-01, do=1.8e-01)

pfsArm
= (x=3775.52, 0=1.84)

calExp
= (x=3775.72, 0=2.03)
e Residual*5

== Trace

Y=2947 (dx=3.2e-01, do=5.7e-02)

calExp
(x=3779.64, 0=1.61)

e Residual*5

== Trace

n I I pfsArm
- ‘ |
m

1 = (x=3779.31, 0=1.55)
Y=3930 (dx=-8.8e-02, do=2.9e-01)

pfsArm
= (x=3787.33, 0=1.45)

calExp
(x=3787.24, 0=1.74)

e Residual*5
== Trace

T T

3780 3790 3800
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Y=245 (dx=-1.4e-01, do=2.8e-02)

f=40, X=3775.5

Y=491 (dx=-9.1e-02, do=2.1e-02)

7 T pfsArm
| = (x=3779.65 0=124)

1 calExp
= (x=3779.51, 0=127)

w— Residual*5
= Trace

pfsArm
| = x=3777.35,0=125)

1 calExp
= (x=3777.25, 0=1.27)

m— Residual*5
== Trace

Y=1228 (dx=-8.1e-02, do=6.2e-03)

Y=1473 (dx=-3.8e-02, do=4.2e-03)

- m—— Residual*5
= Trace

T fsArm - T pfsArm
1 = (x=3773.04, 0=1.23) 1 = (x=3772.30, 0=1.24)
1 calExp 1 calExp

= (x=3772.96, 0=1.24) = (x=3772.26, 0=124)

m—— Residual*5
= Trace

Y=2210 (dx=-1.3e-02, do=-1.3e-02)

Y=2456 (dx=-2.0e-02, do=-2.2e-02)

(x=3771.84, 0=1.21)
m—— Residual*5
w— Trace

-1 I pfsArm I pfsArm
| ™ (x=3771.85,0=123) 1 = (x=3772.30, 0=122)
1 calExp 1 calEx

- = (x=3772.28, 0=1.20)

m— Residual*5
= Trace

e Residual*5
| Trace

1
Y=3193 (dx=-2.2e-02, do=-1.6e-02) Y=3439 (dx=-4.5e-02, do=8.7e-03)
pfsArm _ T pfsArm
1 m—(x=3775.35, 0=1.23) 1 m—(x=3777.09, 0=1.22)
T I r— ;:EI:E;7p75.33, 0=121) I — (c:I:EBX7p77 04, 0=1.23)

m— Residual*5
= Trace

3760 3770 3780 3790

3770 3780 3790

Y=736 (dx=-9.9e-02, do=1.7e-02)

pfsArm
| ™ (x=3775.50, 0=125)
1 calExp

= (x=3775.40, 0=1.26)
—Residual*s
== Trace

Y=1719 (dx=-2.1e-02, do=-4.2e-03)

pfsArm
| = (x=3771.84,0=123)
1 calExp
= (x=3771.82, 0=123)
- e Residual*5
= Trace

Y=2702 (dx=-1.8e-02, do=-1.0e-02)

I pfsArm
1 = (x=3773.03, 0=1.22)
1 calExp

_ m—(x=3773.01, 0=1.21)
m——Residual*5
= Trace

1
Y=3684 (dx=-4.8e-02, do=3.9e-02)
T pfsArm
1 = (x=3779.20, 0=1.24)
- I — (cfle3x7D79.16, 0=1.28)

m— Residual*5
== Trace

3770 3780 3790

Y=982 (dx=-1.1e-01, do=5.9e-03)
T

pfsArm
1 = (x=3774.10, 0=1.24)
1 calExp
— (x=3773.99, 0=1.24)
— Residual*s
== Trace

Y=1965 (dx=-2.9e-02, do=-6.9e-03)

pfsArm
| = (x=377172,0=123)

1 calExp
— (x=3771.69, 0=1.22)
m—Residual*5
== Trace

Y=2947 (dx=-4.0e-02, do=-2.4e-02)

I pfsArm
1 = (x=3774.03, 0=1.22)
calEx|

_ m—(x=3773.99, 0=1.19)
m——Residual*5
== Trace

1
Y=3930 (dx=-2.2e-02, do=4.5e-02)

T pfsArm
| ™ (x=3781.78,0=123)

calExp

(x=3781.76, 0=1.28)
m— Residual*5
== Trace

3770 3780 3790
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Y=245 (dx=-8.7e-02, do=5.3e-02)

f=57, X=3669.7

Y=491 (dx=-1.0e-01, do=3.8e-02)

pfsArm
| ™ (x=3673.44,0=123)

1 calExp
= (x=3673.35, 0=1.28)

w— Residual*5
= Trace

pfsArm
| ™ (x=3671.33,0=123)

1 calExp
= (x=3671.23, 0=1.26)
m— Residual*s
== Trace

Y=1228 (dx=-3.7e-02, do=7.5e-04)

Y=1473 (dx=-2.5e-02, do=4.6e-03)

- m—— Residual*5
= Trace

T fsArm pfsArm
| = (x=3667.42,0=122) | = (x=3666.75, 0=1.22)
1 calExp 1 calExp

= (x=3667.38, 0=122) = (x=3666.73, 0=1.22)

m—— Residual*5
= Trace

m—— Residual*5
w— Trace

1
Y=2210 (dx=1.7e-02, do=-2.2e-03) Y=2456 (dx=4.3e-02, do=-2.7e-02)
T I pfsArm I pfsArm
| ™ (x=3666.42, 0=121) | ™ (x=3666.76, 0=1.22)
I [r— ((:I=E3>(6p€6.43, 0=1.20) I — ((:I=E3x6;}66 80, 0=1.20)

m— Residual*5
= Trace

Y=3193 (dx=-1.4e-02, do=-1.3e-03)

Y=3439 (dx=-5.4e-03, do=1.0e-02)

pfsArm
| = (x=3669.55, 0=121)

| calExp
- = (x=3669.53, 0=1.21)
e Residual*5
| Trace

pfsArm
1 = (x=3671.12, 0=121)

calExp
= (x=3671.11, 0=122)
m— Residual*s

3660 3670 3680

3660 3670 3680

Y=736 (dx=-8.3e-02, do=2.9e-02)

T pfsArm
| ™ (x=3669.65 0=123)
1 calExp
= (x=3669.57, 0=1.26)
—Residual*s
-1 == Trace

Y=1719 (dx=-2.2e-02, do=7.0e-04)

- T fsArm
| ™ (x=3666.40, 0=121)

1 calExp
= (x=3666.38, 0=1.21)

-1 m——Residual*5
= Trace

Y=2702 (dx=1.5e-02, do=-2.3e-02)

I pfsArm
| ™ (x=3667.43,0=121)
1 calEx

. m—(x=3667.44, 0=1.18)
m——Residual*5
= Trace

Y=3684 (dx=3.9e-02, do=4.2e-02)

1 T pfsArm
1 = (x=3673.06, 0=121)

| calExp

= (x=3673.10, 0=1.25)
m— Residual*5

= Trace

3660 3670 3680

Y=982 (dx=-5.0e-02, do=1.8e-02)

pfsArm
| ™ (x=3668.38, 0=123)
1 calExp
= (x=3668.33, 0=1.24)
— Residual*s
== Trace

Y=1965 (dx=1.3e-02, do=3.4e-03)

pfsArm
| ™ (x=366629, 0=121)

calExp
= (x=3666.30, 0=121)

- m——Residual*5
= Trace

Y=2947 (dx=1.1e-02, do=-1.7e-02)

pfsArm

1 = (x=3668.34, 0=1.21)
1 calExp
- = (x=3668.35, 0=1.20)

m——Residual*5

Y=3930 (dx=4.3e-03, do=4.6e-02)

pfsArm
| = (x=3675.43,0=121)

calExp
= (x=3675.44, 0=126)
m—Residual*5
- Trace

3660 3670 3680 3690
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Y=245 (dx=2.6e-02, do=3.1e-02)

f=142, X=3143.3

Y=491 (dx=4.0e-02, do=3.5e-03)

Y=736 (dx=1.6e-02, do=1.3e-02)

Y=982 (dx=6.6e-02, do=2.0e-02)

pfsArm pfsArm pfsArm pfsArm
| = x=3145.43,0-1.19) 1 = (x=314421, 0=1.18) 1 = (x=314327, 0=1.18) | = (x=314255,0=117)
1 calExp 1 calExp 1 calExp 1 calExp
= (x=3143.29, 0=1.19)

= (x=3145.45, 0=121)
— Residual*s
= Trace

= (x=3144.25, 0=1.18)
s Residual*s
== Trace

Y=1228 (dx=6.0e-02, do=8.1e-03)

1
Y=1473 (dx=4.5e-02, d0=6.5e-03)

= Residual*5
== Trace

fsArm
= (x=3142.05, 0=1.17)

calExp
— (x=3142.11, 0=1.18)

e Residual*5
= Trace

pfsArm
| ™ (x=314168,0=117)

1 calExp
= (x=3141.73, 0=1.18)

= Residual*5

= Trace

Y=1719 (dx=7.0e-02, do=1.8e-02)

= (x=3142.61, 0=1.19)
m— Residual*5
== Trace

pfsArm
| ™ (x=314150,0=117)
calExp
= (x=3141.57, 0=1.19)
= Residual*5
= Trace

Y=1965 (dx=5.4e-02, do=3.3e-03)

1
Y=2210 (dx=8. Oe 02, do=1.2e-02) Y=2456 (dx=7.3e-02, do=-1.9e-02)
I pfsArm - I pfsArm
| = (x=314152,0=117) | = x=314171,0=117)
I r— (cfglpn,so, 0=1.18) I r— ((:I=E3)(fdl 78, 0=1.15)

e Residual*5
w— Trace

e Residual*5
= Trace

pfsArm
| = (x=3141.44,0=1.17)

calExp
= (x=3141.50, 0=1.17)
e Residual*5

== Trace

Y=2947 (dx=7.4e-02, do=-1.3e-02)

pfsArm
1 = (x=3143.22, 0=1.17)

calExp
= (x=3143.31, 0=1.17)

e Residual*5
| Trace
-

pfsArm
1 = (x=3144.11, 0=1.16)

calExp
-1 = (x=314422, 0=1.14)

e Residual*5
= Trace

I pfsArm
| ™ (x=3142.53,0=1.19)
1 calExp

— (x=3142.61, 0=1.17)
e Residual*5

3130 3140 3150

3130 3140 3150

1
Y=2702 (dx=8.0e-02, do=-2.2e-02)
I pfsArm
1 = (x=3142.07, 0=1.16)
1 [ (cfle;lde.lS, 0=1.14)
= Residual*5
== Trace
T T 1 T
Y=3684 (dx=9.0e-02, do=3.5e-02)
T pfsArm
1 = (x=3145.24, 0=1.17)
| — (CEI:E;&S.B, 0=1.20)

e Residual*s
= Trace

Y=3930 (dx=6.2e-02, do=2.1e-02)

3160 3130 3140 3150

pfsArm
| ™ (x=3146.65,0=1.17)

| calExp

= (x=3146.71, 0=1.19)
m—Residual*s
- Trace

3160 3130 3140 3150 3160
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Y=245 (dx=5.4e-02, do=1.3e-02)

f=146, X=3118.6

Y=491 (dx=4.4e-02, do=1.6e-02)

Y=736 (dx=4.1e-02, do=-2.3e-03)

Y=982 (dx=5.7e-02, do=-4.7e-03)

T pfsArm
| ™ (x=3118.54,0=119)

1 calExp
= (x=3118.58, 0=1.19)

= Residual*5
== Trace

T pfsArm
| ™ x=3117.84,0=118)

1 calExp
= (x=3117.89, 0=1.18)

e Residual*5
== Trace

Y=1719 (dx=9.6e-02, do=-1.26-02)

pfsArm pfsArm
| = (x=312063,0=1.19) 1 = (x=3119.46, 0=1.19)
1 calExp 1 calExp
= (x=3120.69, 0=1.20) = (x=3119.50, 0=1.20)
s Residual*s m— Residual*s
= Trace == Trace
|
T L T T T T
Y=1228 (dx=9.2e-02, do=-2.2e-02) Y=1473 (dx=6.9e-02, do=3.5e-03)
pfsArm I pfsArm
1 = (x=3117.36, 0=1.18) 1 = (x=3117.05, 0=1.18)
1 calExp 1 calExp
= (x=3117.45, 0=1.16) = (x=3117.12, 0=1.18)

e Residual*5
= Trace

e Residual*5
= Trace

T fsArm
| ™ (x=311682,0=118)
1 calExp

= (x=3116.92, 0=1.17)

e Residual*5
= Trace

1

Y=1965 (dx=8.2e-02, do=-2.0e-02)
I fsArm
| ™ (x=311677,0=117)
1 — (Cffzxfle‘as, 0=1.15)

e Residual*5
= Trace

Y=2210 (dx=1.0e-01, do=-2.1e-02)

Y=2456 (dx=8.6e-02, do=-8.4€-03)

I pfsArm I pfsArm

| ™ (x=3116.84,0=1.17) 1 = (x=3117.08, 0=1.18)

1 calExp 1 calExp
—(x=3116.94, 0=1.15) m—(x=3117.16, 0=1.17)

e Residual*5
w— Trace

e Residual*5
= Trace

1

Y=2702 (dx=1.1e-01, do=-3.1e-02)
I pfsArm
| = (x=3117.38,0=117)
1 e (c:f;fu.w, 0=1.14)

e Residual*s
== Trace

1

Y=2947 (dx=9.1e-02, do=-1.2e-02)
T
1 _R{Sj}r{nﬂﬁl,n:lll)
I = 2500, 0-120)

e Residual*5
== Trace

Y=3193 (dx=1.0e-01, do=-2.7e-02)

Y=3439 (dx=1.0e-01, do=4.2e-03)

Y=3684 (dx=1.0e-01, do=2.0e-02)

Y=3930 (dx=2.6e-02, do=4.1e-02)

pfsArm
| = (x=3118.49,0=118)

calExp

(x=3118.59, 0=1.15)
e Residual*5
| Trace

pfsArm
| = x=3119.37,0=117)

| calExp

= (x=3119.47, 0=1.18)
= Residual*5
- Trace

pfsArm
| ™ (x=3120.46,0=1.17)

calExp
= (x=3120.56, 0=1.19)
e Residual*s
= Trace

T pfsArm
| = (x=3121.83,0=1.18)

calExp
= (x=3121.85, 0=1.22)
e Residual*5
== Trace

3110 3120 3130

3110 3120 3130

3110 3120 3130

3110 3120 3130
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Y=245 (dx=4.4e-02, do=1.3e-02)

f=198, X=2797.6

Y=491 (dx=4.1e-02, do=-1.7e-02)

Y=736 (dx=-1.5e-02, do=2.4e-02)

Y=982 (dx=3.2e-02, do=-2.7e-03)

T pfsArm
| ™ (x=279879,0=131)

1 calExp
= (x=2798.83, 0=1.32)

w— Residual*5

T pfsArm
1 = (x=2798.15, 0=1.19)

1 calExp
= (x=2798.19, 0=1.17)

m— Residual*5
== Trace

pfsArm
| ™ (x=2797.51,0=122)
1 calExp

= (x=2797.49, 0=124)

T pfsArm
1 = (x=2797.12, 0=1.19)

1 calExp
= (x=2797.16, 0=1.19)

= Residual*5
== Trace

Y=1228 (dx=3.9e-02, do=-4.0e-03)

Y=1473 (dx=4.5e-02, do=1.8e-02)

Y=1719 (dx=4.9e-02, do=-1.6e-03)

Y=1965 (dx=5.1e-02, do=8.1e-03)

T fsArm pfsArm
| = (x=2796.70, 0=1.27) | = (x=2796.54,0=1.23)
1 calExp 1 calExp

= (x=2796.74, 0=127) = (x=2796.58, 0=1.25)

m—— Residual*5
= Trace

pfsArm
| =™ (x=2796.44,0=121)
1 calExp
= (x=2796.49, 0=1.21)
e Residual*5
= Trace

pfsArm
| = (x=2796.42, 0=120)

calExp
= (x=2796.47, 0=121)
m—Residual*5

Y=2947 (dx=3.1e-02, do=-1.1e-02)

1 1

Y=2210 (dx=3.3e-02, do=-1.9e-02) Y=2456 (dx=6.2e-02, do=-2.2e-02)
I pfsArm I pfsArm
| = (x=2796.45,0=121) | = (x=2796.54, 0=1.23)
1 e [ ((:LE;;% 61, 0=1.21)

m—(x=2796.48, 0=1.19)
m—— Residual*5
w— Trace

m— Residual*5
= Trace

1

Y=2702 (dx=6.1e-02, do=-1.1e-02)
I pfsArm
| ™ (x=2796.70, 0=1.28)
I — (c:fzxygsjs, 0=127)

pfsArm
1 = (x=2797.10, 0=1.19)
1 calExp

= (x=2797.13, 0=1.18)
m——Residual*5
== Trace

Y=3193 (dx=8.8e-02, do=-1.2e-02)

Y=3439 (dx=6.6e-02, do=-2.4e-02)

Y=3684 (dx=4.6e-02, do=3.2e-02)

Y=3930 (dx=4.8e-03, do=5.9e-02)

pfsArm
| = (x=2797.45 0=121)

calExp
= (x=2797.54, 0=1.20)
w— Residual*5
= Trace

T pfsArm
1 = (x=2798.06, 0=1.19)

calExp

(x=2798.13, 0=1.16)
m— Residual*5
= Trace

T pfsArm
| = (x=2798.67, 0=1.26)
| calExp

= (x=2798.71, 0=1.30)

m— Residual*5
== Trace

pfsArm
I ™ (x=2799.60, 0=125)

calExp
= (x=2799.60, 0=1.31)
m—Residual*5

2790 2800 2810

2790 2800 2810

2790 2800 2810

2790 2800 2810




f=199, X=2791.5

calexp Residual Chi Shift measure Chi

4000 L5500 | - 150 A : == . 1 4000
= = :__: E 4
3500 . = L 100 __ ===j_=F = . 14 3500
= == = ‘.
- 2000 § = = == =
_ == — =
3000 § = 1= 5 . . 3000

- 50

2500 1500 = . 2500

' h-"“'ﬂ""’#“f'ﬂ'i‘l"nl‘.ﬂ.wﬂu

IIIIII

e Ulhrabi

ix)

|

i o

e
> 2000 . 2000

1000

1000 IIIII I| 1| i IIIIIIIII II”I’IIIIIIIIIIII ’

L] i 1| IIIII IIIIIIII”III|I I||I IIIIIIIIIIIIhIII

1500 1500

1000 ok | 1000

500

-100

|IIIIII It an II 1 1] IllI I“II I!IIIIII ! 1 III|I | : T II|’|I|"

llll]

500 18 500

& ~fa.
ey v

=366

g'50() T T T T T
2790 2800 2790 2800 2790 2800 0 20

X (pix) Chi+ - Chi-

. 0
20

hi at each row

0O O A



= === Trace

Y=245 (dx=4.6e-02, do=-2.8e-02)

f=199, X=2791.5

Y=491 (dx=-5.7e-03, do=-1.7e-02)

pfsArm T
= (x=2792.70, 0=1.19) 1

calExp
- (x=2792.74, 0=1.17)
s Residual*5

w | Trace

pfsArm
= (x=2792.02, 0=123)
calExp
= (x=2792.01, 0=121)
m— Residual*s
w | Trace

= == Trace

1 1
Y=1228 (dx=4.0e-02, do=-9.3e-03) Y=1473 (dx=7.6e-02, do=-2.5€-02)
pfsArm I i pfsArm
= (x=2790.61, 0=120) 1 = (x=2790.43, 0=1.20)

calExp

= (x=2790.65, 0=1.19)
e Residual*5

= Trace

calExp
= (x=2790.50, 0=1.17)

m—— Residual*5
= Trace
—

i pfsArm

Y=2210 (dx=6.7e-02, do=-4.0e-02) Y=2456 (dx=4.5-02, do=-2.2e-02)
pfsArm I pfsArm I

= (x=2790.33, 0=1.19) 1 = (x=2790.43, 0=1.19) 1

— calExp — calExp 1
(x=2790.40, 0=1.15) (x=2790.48, 0=1.17)

mm= Residual*5
w— Trace

m— Residual*5

| = Tace

| = Trace

pfsArm
= (x=2791.33, 0=1.19)

calExp
— (x=2791.42, 0=1.14)
m— Residual*s

7| = Trace

pfsArm

= (x=2791.83, 0=1.17)
calExp

= (x=2791.86, 0=1.15)

m— Residual*5

Y=736 (dx=7.0e-02, do=1.4e-02)

pfsArm
(x=2791.38, 0=1.20)

calExp
= (x=2791.45, 0=1.22)

m— Residual*5

Y=982 (dx=3.5e-02, do=-1.4e-02)

pfsArm T
= (x=2790.90, 0=1.18) 1

calExp
= (x=2790.93, 0=1.16)

m— Residual*5
== Trace

= (x=2790.32, 0=1.20)

calExp
= (x=2790.39, 0=1.14)
m— Residual*5

== Trace

Y=1965 (dx=3.2e-02, do=-2.0e-02)

| === Residual*5

pfsArm
= (x=2790.30, 0=1.20)

calExp
= (x=2790.33, 0=1.18)

= Trace

|

Y=2702 (dx=7.6e-02, do=-4.4e-02)
pfsArm I
= (x=2790.61, 0=1.19) 1

calExp
= (x=2790.69, 0=1.14)

m—— Residual*5

Y=2947 (dx=6.5¢-02, do=-2.8e-02)

| == Trace

Y=3684 (dx=4.7e-02, do=-7.0e-03)

pfsArm I
= (x=2790.88, 0=1.17) 1

calExj
= (x=2790.95, 0=1.14)

m— Residual*5

pfsArm T
= (x=2792.55, 0=1.18)

calExp

(x=2792.60, 0=1.18)
m—— Residual*5
= Trace

2780 2790 2800

2780 2790 2800

7| == Residual*5

pfsArm
= (x=2793.47, 0=1.19)

calExp
= (x=2793.54, 0=1.19)

== Trace

2780 2790 2800

2780 2790 2800
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Y=245 (dx=-1.9e-02, do=3.4e-02)

f=205, X=2754.6

Y=491 (dx=2.6e-03, do=-1.3e-02)

pfsArm
| ™ (x=275556, 0=1.36)

calExp
= (x=2755.54, 0=1.39)

w— Residual*5
= Trace

pfsArm
(x=2755.00, 0=1.22)

calExp
= (x=2755.00, 0=1.20)

m— Residual*5

Y=736 (dx=-6.0e-03, do=9.6e-03)

Y=1228 (dx=4.6e-03, do=3.6e-02)

pfsArm
| = x=275437,0=127)

calExp
= (x=2754.36, 0=1.28)

Y=982 (dx=2.5e-02, do=-2.1e-02)

pfsArm
(x=2753.55, 0=1.39)

calExp
= (x=2753.56, 0=1.43)
w—— Residual*5

pfsArm
= (x=2753.44, 0=1.30)
calExp
= (x=2753.45, 0=1.33)
m— Residual*5
= Trace

pfsArm
1 = (x=2754.04, 0=122)

calExp
= (x=2754.06, 0=1.20)

= Residual*5

pfsArm
= (x=2753.37, 0=127)

calExp

= (x=2753.41, 0=127)
e Residual*5

== Trace

m—(x=2753.43, 0=1.26)
m—— Residual*5

1 1
Y=2210 (dx=5.1e-02, do=-7.1e-03) Y=2456 (dx=6.0e-02, do=1.2e-03)
I pfsArm -1 I pfsArm
| =™ x=2753.38,0=127) | = (x=2753.45,0=1.30)
calExp 1 calEx

P
= (x=2753.51, 0=1.30)
m— Residual*5
= Trace

pfsArm
= (x=2753.35, 0=1.26)
calExp
= (x=2753.40, 0=1.26)
m—Residual*5
== Trace

I pfsArm
| ™ (x=2753.55,0=139)

calExp
m—(x=2753.62, 0=1.39)
m——Residual*5

= Trace

Y=2947 (dx=4.0e-02, do=-1.8e-02)

pfsArm
= (x=2754.33, 0=1.25)

calExp
= (x=2754.40, 0=1.21)
w— Residual*5
= Trace

pfsArm
= (x=2754.62, 0=1.48)

calExp
= (x=2754.64, 0=1.52)
m— Residual*s
- Trace

I pfsArm
1 = (x=2754.02, 0=121)
calEx

m—(x=2754.06, 0=1.19)
m——Residual*5
== Trace

pfsArm
= (x=2755.46, 0=1.30)

calExp
= (x=2755.45, 0=1.32)
m—Residual*5
- Trace

2740 2750 2760 2770

2740 2750 2760

pfsArm
= (x=2756.36, 0=1.25)

calExp
= (x=2756.33, 0=1.34)
m—Residual*5
- Trace

2770 2740 2750 2760

2770 2740 2750 2760 2770
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Y=245 (dx=3.4e-02, do=-7.4e-03)

f=206, X=2748.4

Y=491 (dx=6.7e-02, do=-2.6e-02)

pfsArm T pfsArm T
= (x=2749.53, 0=1.19) 1 = (x=2748.79, 0=1.18) 1
calExp 1 calExp 1

= (x=2749.56, 0=1.18)
m— Residual*s
w | Trace

= (x=2748.86, 0=1.15)
s Residual*5
w | Trace

Y=736 (dx=4.2e-02, do=-1.6e-02)

pfsArm T
= (x=2748.28, 0=1.19) 1
calExp 1

= (x=2748.32, 0=1.17)
m— Residual*5
== Trace

Y=982 (dx=5.6e-02, do=-9.9e-03)

1 1
Y=1228 (dx=7.6e-02, do=-3.0e-02) Y=1473 (dx=5.8e-02, do=-8.8e-03)
pfsArm I pfsArm I
= (x=2747.56, 0=1.19) 1 = (x=2747.39, 0=1.18) 1
— calExp 1 — calExp 1
(x=2747.64, 0=1.16) (x=2747.45, 0=1.18)

m= Residual*5
= Trace

m—— Residual*5
= Trace

pfsArm T
= (x=2747.84, 0=1.18) 1
calExp 1
— (x=2747.89, 0=1.17)
w— Residual*s
== Trace

1
Y=1719 (dx=8.0e-02, do=-3.5e-02)
T
= ?;s;zrnug, 0=1.18) 1
calExp 1
= (x=2747.37, 0=1.15)

m—— Residual*5
= Trace

1 1
Y=2210 (dx=6.1e-02, do=-2.4€-02) Y=2456 (dx=8.2e-02, do=-2.8e-02)
pfsArm pfsArm I
= (x=2747.30, 0=1.18) = (x=2747.39, 0=1.18) 1
calExp calExp 1

= (x=2747.36, 0=1.16)

|

I
m—— Residual*5
w— Trace

1

m—(x=2747.48, 0=1.15)
m— Residual*5
w— Trace

Y=2702 (dx=7.4e-02, do=-4.5e-02)

1
Y=1965 (dx=7.2e-02, do=-4.3e-02)
pfsArm T
| = (x=2747.26, 0=1.18) 1
calExp 1
= (x=2747.33, 0=1.14)

m—— Residual*5
= Trace

Y=3193 (dx=8.0e-02, do=-5.3e-02)

Y=3439 (dx=1.0e-01, do=-3.0e-02)

pfsArm T
= (x=2747.56, 0=1.18) 1
calExp 1

m—(x=2747.64, 0=1.14)
m—— Residual*5
= Trace

Y=2947 (dx=9.7e-02, do=-3.4e-02)

pfsArm pfsArm T

| = (x=274822,0=118) = (x=2748.69, 0=1.18) 1

| calExp calExp |
= (x=2748.31, 0=1.13) = (x=2748.80, 0=1.15)

e Residual*5
| Trace

m— Residual*5
| Trace

Y=3684 (dx=6.9e-02, do=4.3e-03)

pfsArm I
= (x=2747.82, 0=1.17) 1
calExp 1

m—(x=2747.91, 0=1.14)
m— Residual*5
= Trace

pfsArm
| = (x=2749.37, 0=1.18)

calExp
= (x=2749.44, 0=1.18)

m— Residual*5

2740 2750 2760

2740 2750 2760

Y=3930 (dx=6.0e-02, do=4.3e-02)

pfsArm
| = (x=2750.24, 0=1.18)

calExp
= (x=2750.29, 0=1.23)
m—Residual*5

== Trace

2740 2750 2760

2740 2750 2760
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Y=245 (dx=4.5e-02, do=-8.8e-03)

f=216, X=2686.8

Y=491 (dx=4.1e-02, do=1.8e-03)

T pfsArm
| = (x=2687.79, 0=1.16)

1 calExp
- = (x=2687.84, 0=1.15)

w— Residual*5
= Trace

T pfsArm
1 = (x=2687.17, 0=1.15)

1 calExp
= (x=2687.21, 0=1.15)

m— Residual*5
== Trace

Y=1228 (dx=5.9e-02, do=-1.2e-02)

Y=1473 (dx=7.5e-02, do=-2.1€-02)

I pfsArm I fsArm
1 = (x=2686.06, 0=1.15) | = (x=2685385,0=115)
1 calExp 1 calExp

= (x=2686.12, 0=1.13) = (x=2685.93, 0=1.13)

m—— Residual*5
= Trace

m—— Residual*5
= Trace

1
Y=2210 (dx=8.8e-02, do=-1.8e-02) Y=2456 (dx=9.0e-02, do=-1.9e-02)
I pfsArm I pfsArm
| = (x=2685.77,0=1.15) | ™ (x=2685386,0=1.15)
I [r— ((;LEZXGDSSSS, 0=1.13) I — ((:LE;GPSS 95, 0=1.13)
- w— Residual*5 e Residual*5

= Trace

== Trace

1
Y=3193 (dx=8.8e-02, do=-1.5€-02) Y=3439 (dx=7.7e-02, do=-2.3e-03)
N T pfsArm T pfsArm
| = (x=2686.59, 0=1.14) 1 = (x=2687.07, 0=1.14)
I r— (CEI:EZX(ESG.ES, 0=1.13) - I — (c:I:EZXf’;S7 14, 0=1.13)

e Residual*5
| Trace

m— Residual*5
= Trace

T

2670 2680 2690 2700

2680 2690 2700

Y=736 (dx=6.4e-02, do=-1.4e-02)

Y=982 (dx=6.6e-02, do=-1.3e-02)

T pfsArm
| ™ (x=2686.65 0=1.15)
1 calExp

= (x=2686.72, 0=1.14)
—Residual*s
== Trace

T pfsArm
| ™ (x=268631,0=115)
1 calExp

= (x=2686.37, 0=1.13)
— Residual*s
== Trace

Y=1719 (dx=7.9e-02, do=-1.1e-02)

Y=1965 (dx=8.5e-02, do=-1.3e-02)

I pfsArm
| ™ (x=268576,0=1.15)
1 calExp
= (x=2685.84, 0=1.14)
e Residual*5
= = Trace

I fsArm
| ™ (x=2685.74,0=115)
1 calExp
= (x=2685.82, 0=1.14)
m—Residual*5
= Trace

1
Y=2702 (dx=8.2e-02, do=-3.0e-02)

1
Y=2947 (dx=9.2e-02, do=-2.2e-02)

_ pfsArm
1 = (x=2686.06, 0=1.14)
1 calExp
m—(x=2686.14, 0=1.11)

1 m——Residual*5
== Trace

Y=3684 (dx=8.3e-02, do=5.0e-03)

pfsArm
| ™ (x=2687.63,0=1.14)

calExp
= (x=2687.71, 0=1.15)
m— Residual*5
= Trace

pfsArm
| ™ (x=268627,0=1.14)
1 calExp

m—(x=2686.37, 0=1.12)
m——Residual*5
== Trace

Y=3930 (dx=5.9e-02, do=4.5e-02)

pfsArm
| = (x=2688.41,0=1.14)

| calExp

= (x=2688.47, 0=1.18)
m—Residual*5
- Trace

2680 2690 2700

2680 2690 2700
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Y=245 (dx=7.9e-02, do=-1.7e-02)

f=217, X=2680.6

Y=491 (dx=-5.7e-02, do=-8.7e-02)

Y=736 (dx=5.5e-02, do=-7.9e-02)

'IHJ’L

g (x 2681 50, 0=1.57)

Exp
— lx 2681 57, 0=1.55)

e Residual*5
= Trace

pfsArm
== (x=2681.38, 0=1.65)
calExp
- x= 2681 32, 0=1.57)
— Residual*s
== Trace

gl

Y=1473 (dx=6 Se- 02, do=-1.1e- 01)

= Residual*5
- Trace

-F?HE

j T prsAm
T (x=2679.61, 0=1.60) | (x 2679.46, 0=1.66)

calExp 1 calExp
— (x=2679.62, 0=1.65) = (x=2679.53, 0=1.55)

e Residual*5
= Trace

. I pfsArm
| = (x=2679.48,0=161)

Y=2210 (dx=-9.7e-02, do=-1.9e-02)

pfsArm
== (x=2679.49, 0=1.63)

calExp
= (x=2679.40, 0=1.61)
e Residual*5

w— Trace

i

pfsArm

= (x=2679.54, 0=1.61)
calExp

= (x=2679.56, 0=1.58)

Y=2456 (dx=1.9e-02, do=-2. Ze- 02)
e Residual*5

it

{H e _I.[!L___.._rr‘:

Y= 3193 x=8.3e- 02 do=-2.0e- 01)

Y=3439 (dx=3.7e- 02 do=9.6e- 03)

pfsArm

= (x=2680.38, 0=1.61)

calExp
= (x=2680.47, 0=1.42)

mm— Residual*5

2670 2680 2690

T pfsArm

I = (x=2680.72, 0=1.54)

l calExp
= (x=2680.76, 0=1.55)
wmm= Residual*5
- Trace

- —— _F -
T T

2670 2680 2690

pfsArm
== (x=2680.47, 0=1.60)

calExp
= (x=2680.52, 0=1.52)

e Residual*5

== Trace

Y=1719 (dx=1.1€-01, do=-1.3e-01)

calExp
= (x=2679.59, 0=1.49)
mm— Residual*5

I She

= Trace

Y=2702 (dx=-1. 9e 02 do=1.5e- 02)

pfsArm
| = (x=2679.66, 0=1.59)

calExp
= (x=2679.64,0=161)

e Residual*5
== Trace

J:tl'=

Y=3684 (dx=-7.9e-03, do=-2.6e-02)

] rrL
pfsArm

= (x=2681.41, 0=1.56)

calExp
= (x=2681.40, 0=1.53)
= Residual*5
== Trace

it

2670 2680 2690

pfsArm

= (x=2680.41, 0=1.59)
calExp

- (x= 2680 37, 0=1.47)

Y=982 (dx=-3.5e-02, do=-1.2e-01)
e Residual*5

Al

Y=1965 (dx=3.2e-02, do=-6. ‘8e- 02)
e Residual*5

A

Y=2947 (dx=-4.1e-02, do=-1.1e-01)

fsArm
== (x=2679.49, 0=1.60)

calExp
= (x=2679.52, 0=1.53)

pfsArm
= (x=2680.44, 0=157) 1

calExp
= (x=2680.40, 0=1.46)

= Residual*s
| = Trace

i

Y=3930 (dx=-1.1e-01, do=9.3e-03)

== Trace

i

pfsArm
= (x=2682.36, 0=1.54)

calExp
= (x=2682.25, 0=1.55)
e Residual*5

2670 2680 2690
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Y=245 (dx=5.2e-02, do=-1.2e-02)

f=223, X=2643.5

Y=491 (dx=3.8e-02, do=-1.8e-02)

Y=736 (dx=3.1e-02, do=5.7e-03)

Y=982 (dx=4.4e-02, do=-2.0e-02)

= (x=2644.61, 0=1.14)
m— Residual*s

= Trace

T pfsArm T pfsArm
| ™ (x=2644.56, 0=1.15) | = (x=2643.93,0=1.16)
calExp 1 calExp

= (x=2643.96, 0=1.14)
m— Residual*s

- == Trace

pfsArm
| ™ (x=2643.50,0=115)
1 calExp

= (x=2643.53, 0=1.16)
—Residual*s
== Trace

T pfsArm
1 = (x=2643.17, 0=1.16)
1 calExp

= (x=264321, 0=1.14)
— Residual*s
== Trace

Y=1228 (dx=5.6e-02, dg=-2.0e-03)

1
Y=1473 (dx=5.6e-02, do=-1.0e-02)

Y=1719 (dx=6.1e-02, do=1.5e-02)

Y=1965 (dx=5.1e-02, do=7.0e-03)

I fsArm
| ™ (x=2642.89, 0=1.16)
1 calExp
— (x=2642.95, 0=1.16)
w—— Residual*5
= Trace

T fSArm
| = (x=264275,0=1.16)

1 calExp
= (x=2642.80, 0=1.15)
m— Residual*5

Y=2210 (dx=7.1e-02, do=5.3e-03)

Y=2456 (dx=6.9e-02, do=-1.3e-02)

—(x=2642.74, 0=1.16)
m—— Residual*5
w— Trace

pfsArm pfsArm
| ™ (x=2642.66, 0=1.15) | = (x=264275,0=1.16)
1 calExp 1 calExj

m—(x=2642.81, 0=1.14)
m— Residual*5
= Trace

Y=3193 (dx=9.2e-02, do=-2.5e-02)

Y=3439 (dx=5.2e-02, do=7.2e-03)

pfsArm
| = (x=2643.42, 0=1.15)

| calExp

= (x=2643.51, 0=1.13)
w— Residual*5
= Trace

pfsArm
| ™ (x=2643.82, 0=1.16)
- | calExp
= (x=2643.87, 0=1.16)
m— Residual*s
- Trace

I pfsArm
| ™ (x=2642.66,0=1.15)
1 calExp
- (x=2642.72, 0=1.17)
e Residual*5
= Trace

pfsArm
| ™ (x=2642.64,0=115)
1 calExp
= (x=2642.69, 0=1.16)
m—Residual*5
= Trace

1

Y=2702 (dx=7.6e-02, do=-7.2e-03)
I pfsArm
| ™ (x=2642.88,0=1.16)
1 calExp

m—(x=2642.96, 0=1.15)
m——Residual*5
= Trace

1

Y=2947 (dx=5.1e-02, do=-2.2e-02)
I pfsArm
1 = (x=2643.13, 0=1.15)
1 calExp

m—(x=2643.18, 0=1.13)
m——Residual*5
== Trace

Y=3684 (dx=3.9e-02, do=2.0e-03)

pfsArm
| ™ (x=2644.38,0=115)

| calExp

= (x=2644.42, 0=1.15)
m—Residual*5
- Trace

2630 2640 2650

2630 2640 2650

1

Y=3930 (dx=4.2e-02, do=-1.9e-02)
T pfsArm
1 = (x=2645.10, 0=1.15)
] — (Cxa‘:E;gz:s.ls, 0=1.13)

m— Residual*5
== Trace

2630 2640 2650

2660 2630 2640 2650 2660
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Y=245 (dx=3.4e-02, do=5.7e-03)

f=231, X=2594.2

Y=491 (dx=4.2e-02, do=-7.0e-04)

] iy [

7 T pfsArm T T pfsArm
1 = (x=2595.10, 0=1.19) | = (x=2594.46,0=127)
1 calExp 1 calExp
= (x=2595.14, 0=1.20) = (x=2594.50, 0=1.27)
m— Residual*5 m— Residual*5
= Trace - == Trace

Y=1228 (dx=1.2e-02, do=4.4e-02)

Y=1473 (dx=2.1e-02, do=3.7e-02)

pfsArm
| ™ (x=2593.50, 0=1.30)

calExp
= (x=2593.51, 0=1.34)
w—— Residual*5

pfsArm
| ™ (x=2593.40, 0=125)

calExp
= (x=2593.42, 0=1.29)
m— Residual*5

Y=2210 (dx=5.0e-02, do=-5.4e-03)

Y=2456 (dx=6.5e-02, do=-3.2e-02)

= (x=2593.39, 0=1.23)
m—— Residual*5
w— Trace

pfsArm pfsArm
1 = (x=2593.34, 0=1.23) | = (x=2593.40,0=125)
calExp 1 calExp

m—(x=2593.46, 0=1.22)
m— Residual*5

calExp
- (x=2594.14, 0=1.17)
w— Residual*5
= Trace

Y=3193 (dx=9.3e-02, do=-1.7e-02) Y=3439 (dx=5.1e-02, do=-1.2e-02)
T pfsArm pfsArm
1 = (x=2594.05, 0=1.19) — (x=2594.37, 0=1.24)

calExp
= (x=2594.42, 0=1.23)

m— Residual*5

2580 2590 2600 2610

2580 2590 2600 2610

Y=736 (dx=4.1e-02, do=1.8e-03)

Y=982 (dx=2.2e-02, do=4.0e-02)

T pfsArm
1 = (x=2594.13, 0=1.19)

calExp
= (x=2594.17, 0=1.20)
—Residual*s
== Trace

Y=1719 (dx=5.8e-02, do=2.3e-02)

pfsArm
| ™ (x=2593.62, 0=1.41)

calExp
= (x=2593.64, 0=1.45)
— Residual*s
== Trace

pfsArm
| ™ (x=2593.34,0=123)

calExp
= (x=2593.40, 0=1.25)
e Residual*5

== Trace

1
Y=1965 (dx=3.5e-02, do=-5.0e-03)

Y=2702 (dx=6.9e-02, do=-1.2e-02)

pfsArm
= (x=2593.32, 0=1.23)

calExp
= (x=2593.35, 0=1.22)
m—Residual*5

== Trace

pfsArm
| ™ (x=2593.49, 0=129)

calExp
= (x=2593.55, 0=1.28)
m——Residual*5

= Trace

Y=3684 (dx=3.5e-02, do=3.5e-02)

1
Y=2947 (dx=3.8e-02, do=1.8e-02)
I pfsArm
| = (x=2593.59, 0=138)
calEx|

= (x=2593.63, 0=1.40)

T pfsArm
= (x=2594.66, 0=1.46)

calExp
= (x=2594.69, 0=1.50)

e Residual*5

Y=3930 (dx=2.3e-02, do=3.3e-02)

2580 2590 2600

pfsArm
= (x=2595.47, 0=1.27)

calExp

(x=2595.50, 0=1.31)
m— Residual*5
== Trace

2610 2580 2590 2600 2610
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Y=245 (dx=5.4e-02, do=-4.6e-03)

f=232, X=2588.1

Y=491 (dx=4.4e-02, do=-2.4e-02)

pfsArm pfsArm T
= (x=2588.81, 0=1.30) 1 _| = (x=2588.36, 0=1.21) 1
calExp 1 calExp 1
= (x=2588.87, 0=1.29) = (x=2588.41, 0=1.19)
s Residual*5 s Residual*5
w | Trace w | Trace

| == Trace

1
T T T T T T

Y=1228 (dx=8.1e-02, do=-1.1e-03) Y=1473 (dx=6.8e-02, do=1.2e-02)

pfsArm I a pfsArm T
= (x=2587.43, 0=122) 1 = (x=2587.31, 0=1.20) 1

calExp 1 calExp 1
= (x=2587.51, 0=122) = (x=2587.38, 0=122)
m= Residual*5 m—— Residual*5
= Trace = Trace

1
Y=1719 (dx=6.8e-02, do=-2.9e-03)
T
1= ?;s;zrgw.u, 0=120) 1
— calexp 1
(x=2587.31, 0=1.20)

mm= Residual*5
w— Trace

1 1
Y=2210 (dx=6.6e-02, do=-2.0e-02) Y=2456 (dx=7.9e-02, do=-4.3e-02)
pfsArm I 7] pfsArm I
= (x=2587.24, 0=120) 1 = (x=2587.30, 0=1.20) 1
— calExp 1 — calExp 1
(x=2587.30, 0=1.18) (x=2587.38, 0=1.16)

] == Trace

m— Residual*5

Y=736 (dx=4.5e-02, do=-8.4e-03)

pfsArm T
= (x=2588.01, 0=1.20) 1
calExp 1

= (x=2588.05, 0=1.19)
m— Residual*5

m—— Residual*5
= Trace

Y=2702 (dx=9.6e-02, do=-3.6e-02)

pfsArm I
= (x=2587.41, 0=121) 1

calExp 1
= (x=2587.51, 0=1.17)

m—— Residual*5
= Trace

m Residual*5
w— | Trace

1
Y=3193 (dx=9.5e-02, do=-3.0e-02) Y=3439 (dx=6.0e-02, do=-2.2e-02)
pfsArm T pfsArm T
m—(x=2587.79, 0=127) 1 — (x=2588.26, 0=1.19) 1
e calExp | e calExp |
(x=2587.88, 0=1.24) (x=2588.32, 0=1.17)

| == Residual*5

= Trace

2580 2590 2600

2580 2590 2600

pfsArm T
= (x=2588.68, 0=1.24)

calExp

(x=2588.75, 0=1.23)
m—— Residual*5
= Trace

Y=982 (dx=8.2e-02, do=-2.3e-02)

pfsArm T
= (x=2587.60, 0=1.25) 1

calExp 1
= (x=2587.69, 0=1.22)

w— Residual*s
== Trace

1
Y=1965 (dx=6.6e-02, do=-1.3e-02)
pfsArm T
= (x=2587.22, 0=120) 1
calExp 1
= (x=2587.28, 0=1.19)
m— Residual*s

= Trace

1

Y=2947 (dx=8.2e-02, do=-3.4€-02)
T

= E):iAzrsmm 57,0=1.23) 1

calExp 1
= (x=2587.65, 0=1.19)

m— Residual*5

= Trace

2580 2590 2600

1
Y=3930 (dx=8.4e-02, do=-7.4e-03)
pfsArm T
= (x=2589.37, 0=1.20) 1
calExp |
(x=2589.45, 0=1.19)

m— Residual*5

2580 2590 2600
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Y=245 (dx=6.9e-02, do=-2.1e-02)

f=233, X=2581.9

Y=491 (dx=1.9e-02, do=-4.3e-02)

p
_| = (x=2582.67, 0=1.29) 1

fsArm T

calExp
_(x= 2532 74, 0=1.27)

w— Residual*s
== Trace

pfsArm
= (x=258224, 0=125) 1
calExp
_ = 2582 26, 0=1.21)
s Residual*s
w | Trace

Y=736 (dx=-2.3e-02, do=2.7e-02)

pfsArm
= (x=2581.72, 0=127)
calExp
_ = 2581 70, 0=1.30)
s Residual*5
== Trace

il

Y=982 (dx=-1.4e-02, do=-2.7e-02)

_ p
= (x=2581.49, 0=1.26) 1

T 5 -
1

fsArm T

calExp
= (x=2581.47, 0=123)
m— Residual*s

== Trace

1
T T T
Y=1228 (dx=2. Oe- 02, do=-2.7e- 02) Y=1473 (dx=3.6e-02, do=-2.7e-02)
pfsArm I pfsArm I
= (x=2581.31, 0=1.26) 1 = (x=258120, 0=1.26) 1
calExp calExp 1
= (x=2581.33, 0=123) = (x=2581.24, 0=1.23)
= Residual*5 = Residual*5
| = Trace | - Tace 1
|
|
1
T

Y=2456 (dx=1.9e-02, do=-3.5€-02)

pfsArm
= (x 2581.14, 0=1.27) 1

— (x:zsal,ls, 0=123)
= Residual*5
== Trace

A

S

| == Residual*5

pfsArm
= (x=2581.14, 0=127) 1

calExp
m—(x=2581.15, 0=1.24)
= Residual*5

w— Trace

| === Residual*5

pfsArm
= (x=258120, 0=127) 1

calExp
= (x=258122, 0=123)

= Trace

Y=2702 (dx=5. de- 02, do=-5.8e- 02)

pfsArm
= (x=2581.12, 0=127) 1

calExp
= (x=2581.17, 0=1.22)

= Trace

pfsArm T
= (x=2581.30, 0=1.26) 1
calExp

m—(x=2581.35, 0=1.20)
e Residual*5
= Trace

pfsArm
= (x=2581.65, 0=1.26) 1

calExp
= (x=2581.74, 0=121)
= Residual*5
- Trace

calExp
| = (x=2582.19, 0=1.22)

pfsArm
— (x=2582.14, 0=126) 1

e Residual*5
| Trace

pfsArm I
= (x=2581.45, 0=125) 1
calExj

= (x=2581.50, 0=1.18)
e Residual*5
= Trace

2570 2580 2590

2570 2580 2590

pfsArm
= (x=2582.53, 0=1.25)

calExp

(x=2582.55, 0=1.26)
e Residual*5
= Trace

2570 2580 2590

pfsArm
= (x=2583.23, 0=125) 1

calExp
= (x=2583.22, 0=1.26)
e Residual*5
= Trace

2570 2580 2590
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Y=245 (dx=8.4e-02, do=-5.2e-03)

f=239, X=2544.9

Y=491 (dx=4.1e-02, do=-2.5e-02)

= (x=2545.80, 0=1.20)
w— Residual*5
= Trace

pfsArm pfsArm
| = (x=254572,0=1.21) 1 = (x=2545.26, 0=1.17)
1 calExp 1 calExp

= (x=2545.30, 0=1.15)
m— Residual*s
== Trace

1
Y=1228 (dx=7.0e-02, do=-5.2e-04)

Y=1473 (dx=5.9e-02, do=7.6e-03)

pfsArm
| ™ (x=2544.39, 0=1.18)
1 calExp
= (x=2544.46, 0=1.18)
w—— Residual*5
= Trace

pfsArm
| ™ (x=254427,0=118)
1 calExp
= (x=2544.33, 0=1.18)
m— Residual*5
= Trace

Y=2210 (dx=8.2e-02, do=3.3e-03)

Y=2456 (dx=1.1e-01, do=-1.4e-02)

m—— Residual*5
w— Trace

pfsArm pfsArm
= (x=254421, 0=1.18) 1 = (x=254427, 0=1.18)
calExp 1 calExp
m—(x=2544.29, 0=1.18) m—(x=2544.38, 0=1.16)

m— Residual*5
= Trace

Y=3193 (dx=8.6e-02, do=-5.5e-03)

Y=3439 (dx=7.0e-02, do=-2.7e-02)

T pfsArm
| = (x=2544.75, 0=121)

| calExp
T = (x=2544.83, 0=1.20)
w— Residual*5
= Trace

T pfsArm
1 = (x=2545.13, 0=1.17)

| calExp
= (x=2545.20, 0=1.14)
m— Residual*s
- Trace

2530 2540 2550

2560 2530 2540 2550 2560

Y=736 (dx=3.4e-02, do=1.5e-03)

Y=982 (dx=7.7e-02, do=-7.4e-03)

T pfsArm
| ™ (x=2544.82,0=122)
1 calExp

= (x=2544.86, 0=1.22)
m— Residual*s

== Trace

T pfsArm
| ™ (x=2544.58,0=1.19)
1 calExp

= (x=2544.65, 0=1.19)
m—Residual*5
== Trace

Y=1719 (dx=6.1e-02, do=-1.3e-02)

pfsArm
1 = (x=254421, 0=1.17)
1 calExp
= (x=2544.27, 0=1.16)
e Residual*5
= Trace

1

Y=1965 (dx=5.7e-02, do=-2.3e-02)
I pfsArm
1 = (x=2544.19, 0=1.18)

1 calExp
= (x=2544.25, 0=1.15)
m—Residual*5
== Trace

Y=2702 (dx=1.0e-01, do=-3.5e-02)

pfsArm
| ™ (x=2544.37,0=118)
1 calExp
1 = (x=2544.47, 0=1.15)

m——Residual*5

1

Y=2947 (dx=6.0e-02, do=-2.0e-02)
I pfsArm
| ™ (x=2544.53,0=1.19)
1 calExp

m—(x=2544.59, 0=1.17)
m——Residual*5
== Trace

Y=3684 (dx=4.0e-02, do=-1.1e-02)

Y=3930 (dx=9.7e-02, do=4.7e-02)

pfsArm
= (x=2545.54, 0=1.19)

calExp
= (x=2545.58, 0=1.18)
m—Residual*5
- Trace

e

T pfsArm
1 = (x=2546.16, 0=1.17)
| calExp

— (x=2546.25, 0=1.22)

m— Residual*5

2530 2540 2550

2560 2530

2540 2550 2560
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Y=245 (dx=6.8e-02, do=1.4e-02)

f=473, X=1172.5

Y=491 (dx=3.0e-02, do=1.0e-03)

pfsArm
1 = (x=1170.13, 0=1.11)

1 calExp

= (x=1170.19, 0=1.12)
m— Residual*s
= Trace

pfsArm
1 = (x=117121, 0=1.11)
T 1 calExp
= (x=1171.24, 0=1.11)
m— Residual*s
== Trace

Y=1228 (dx=1.7e-02, do=-1.2e-02)

Y=1473 (dx=-1.0e-03, do=-1.1e-02)

m—— Residual*5
= Trace

I pfsArm . pfsArm

T 1 = (x=1173.23, 0=1.11) | = x=1173.57,0=111)
1 calExp 1 calExp

= (x=1173.25, 0=1.10) = (x=1173.57, 0=1.10)

m—— Residual*5
= Trace

m—— Residual*5
=1 w— Trace

1 1
Y=2210 (dx=-1.6e-02, do=-6.8e-03) Y=2456 (dx=-2.5e-02, do=-4.9e-03)
I pfsArm I pfsArm
| = x=1173.93,0=111) | = x=1173.850=111)
I — ((5I=E1le73.91, 0=1.10) I — ((:LEH}B 82, 0=1.11)

m— Residual*5
. = Trace

H{ e

Y=736 (dx=2.1e-02, do=-9.6e-03)

pfsArm
1 = (x=1172.07, 0=1.11)
1 calExp

= (x=1172.09, 0=1.10)
—Residual*s
== Trace

1
Y=1719 (dx=-2.0e-02, do=-7.3e-03)
T
T 1 _F:s:ArEma,c:lvu)
| —(cffffnﬂ,a:l.w)

m——Residual*5
= Trace

1

Y=2702 (dx=-3.8e-02, do=-1.4e-02)
T
| (priﬁr{r;a.m, 0=1.11)
| — (c:flen.ea, 0=1.10)

m——Residual*5
== Trace

1 1 1
Y=3193 (dx=-2.2-02, do=-5.5¢-03) Y=3439 (dx=-1.8e-02, do=6.8e-03) Y=3684 (dx=-1.7e-02, do=3.5e-02)
i T pfsArm T pfsArm T pfsArm
| = (x=1172.89, 0=1.12) 1 — (x=1172.29, 0=1.12) 1 = (x=1171.45, 0=1.12)
I — (cxalelxlpn.sz 0=1.11) | = (CSI:EH)U 27,0=1.12) | = (CEI:E;1D71.43, 0=1.15)

-1 e Residual*5
| Trace

- m— Residual*5
= Trace

1160 1170 1180

1160 1170 1180

m— Residual*5
== Trace

1160 1170 1180

Y=982 (dx=2.3e-02, do=-9.7e-03)
T

pfsArm
| = (x=117271,0=1.11)

1 calExp
= (x=1172.74, 0=1.10)

= Residual*5
== Trace

1
Y=1965 (dx=-1.1e-02, do=-5.1e-03)

pfsArm
| ™ x=1173.91,0=1.11)
calExp
= (x=1173.90, 0=1.11)
m—Residual*5
= Trace

Y=2947 (dx=-1.7e-02, do=-4.9e-03)

pfsArm
| =™ x=117337,0=111)

1 calExp
= (x=1173.35, 0=1.11)

m——Residual*5
== Trace

Y=3930 (dx=-2.5e-02, do=7.1e-02)

T pfsArm
| = (x=1170.39, 0=1.12)

calExp

(x=1170.36, 0=1.19)
m— Residual*5
== Trace

1160 1170 1180
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f=474, X=1166.3

Y=245 (dx=-6.1e-01, do=1.6e-01) Y=491 (dx=3.0e-01, do=-2.7e-01) Y=736 (dx=-5.9e-02, do=7.8e-02) Y=982 (dx=4.2e-01, do=-2.4e-01)

T pfsArm T pfsArm N T pfsArm ] L pfsArm
= (x=1163.56, 0=2.02) _ 1 = (x=1165.82, 0=2.10) - I |™ (x=1165.63, 0=1.94) = (x=1166.48, 0=2.20)
calExp 1 calExp 1 calExp calExp
_ - x= 1162, 95, 0=2.18) - (x= 1166. 12, 0=1.83) = (x=1165.57, 0=2.02) - (x= 1166.90, o=1. 96)
s Residual*5 I s Residual*s m— Residual*5 - m—Residual*s
- Trace 1 - Trace - Trace - Trace
_ el E o | A || e W
4 = - - ] —— - - ——— - —r - - - - - -
T T n T T 1 T 0 T T T n T
Y=1228 (dx=4.0e-01, do=-3.2e-01) Y=1473 (dx 1.2e-01, dU=-2.3e-01) Y=1719 (dx 4.3e-01, do=-2.2e- 01) Y=1965 (dx=2.1e-01, do=1.7e-03)
T T oreAm — pfsArm T pfsArm o T T oA |
= (x=1167.81, 0=2.16) = (x=1167.52, 0=2.25) 1 = (x=1167.34, 0=2.17. _ I [= x=1167.04,0=2.31)
calExp calExp 1 calExp 1 calExp
= (x=1168.22, 0=1.83) = (x=1167.64, 0=2.02) - = (x=1167.76, 0=1.95) = (x=1167.26, 0=2.31)
e Residual*5 7| == Residual*5 I = Residual*5 I = Residual*5
_ - Trace - Trace 1 - Trace 1] = Tace
T T T -ﬁ- n T T r T 1 T T
Y=2210 (dx=3.1e-01, do=-9.5e-02) Y=2456 (dx=1.6e-01, do=-2.2e-01) Y=2702 dx 9.7e-02, do=-1.5e-01) Y=2947 (dx=2.7e-01, do=-3.2e-01)
pfsArm T pfsArm pfsArm T t T pfsArm
= (x=1167.01, 0=2.27) I |™ (x=116727, 0=2.03) — (x=1167.39, 0=2.15) 1 1 = (x=1167.68, 0=2.16)
calExp 7 calExp T calExp 1 1 calExp
= (x=1167.32,0=2.17) = (x=1167.43, 0=1.81) = (x=1167.49, 0=2.00) a = (x=1167.95, 0=1.84)
= Residual*5 1 e Residual*5 = Residual*5 I I e Residual*5
- Trace 1 ||= tace - Trace 1 1 - Trace
I 1 | L 1 -
|
|
- — — — — e ———— - — — I — —— — - —" o — e ———— - — — —— —
u) " a1
T 1 T T T —~ T T T T T T
Y=3193 (dx=-2.1e-01, do=-1.9e-01) Y=3439 (dx=-7.5e-02, do=-7.2e-02) Y=3684 (dx=-1.0e-01, do=5.1e-02) Y=3930 (dx=5.3e-01, da—-l.le-Ol)
fSA T T T A T fSA L fSA
pfsArm pfsArm pfsArm pfsArm
= (x=1166.16, 0=2.13) 1 = (x=1166.78, 0=2.18) = (x=1165.52, 0=2.00) = (x=1164.39, 0=1.74)
calExp | calExp calExp 4 calExp
= (x=1165.95, 0=1.95) 1 = (x=1166.70, 0=2.11) = (x=1165.42, 0=2.05) = (x=1164.92, 0=1.63)
= Residual*5 I = T = Residual*5 = Residual*5 m——_ Residual*5
] - Trace - Trace - - Trace - Trace
| ]
T T T T T T T T T T T

1150 1160 1170 1180 1150 1160 1170 1180 1150 1160 1170 1180 1150 1160 1170 1180
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Y=245 (dx=5.5e-02, do=3.9e-02)

f=569, X=578.7

Y=491 (dx=3.6e-02, do=1.3e-02)

T pfsArm
1 = (x=574.75, 0=1.12)

1 calExp
= (x=574.81, 0=1.16)

= Residual*5
= Trace

T pfsArm
1 = (x=576.71, 0=1.12)
1 calExp

= (x=576.75, 0=1.13)

e Residual*5
== Trace

1 1

Y=1228 (dx=8.0e-03, do=1.8e-03) Y=1473 (dx=6.5e-03, do=3.2e-03)
T T
1 = F;sjsr& 44, 0=1.12) 1 — fﬁiﬁrz?l.ll, 0=1.11)
1 calExp 1 calExp

= (x=580.45, 0=1.12)
mmResidual*5
== Trace

= (x=581.11, 0=1.12)
w— Residual*5
= Trace

1
Y=2210 (dx=-2.4e-02, do=7.9e-04) Y=2456 (dx=-4.0e-02, do=1.4e-03)
T T
1 = F:Sgénl 65, 0=1.11) 1 — {’Ii'é?.n, 0=1.11)
I r— (C;‘:E;xéjl 63, 0=1.11) I r— SI:Esxgl.aa, 0=1.11)

m—Residual*5
= Trace

m— Residual*5
w— Trace

1

Y=3193 (dx=-4.8e-02, do=2.7e-02) Y=3439 (dx=-1.6e-02, do=1.7e-02)
T pfsArm T pfsArm
1 m—(x=579.26, 0=1.11) 1 m—(x=577.91, 0=1.11)
I = (CELE;7992L 0=1.14) I — rj‘:E5X7p7.90, 0=1.13)

e Residual*5
== Trace

mm—Residual*5
= Trace

570 580 590

570 580 590

Y=736 (dx=2.5e-02, do=-1.2e-02)

T pfsArm
1 = (x=578.29, 0=1.12)

1 calExp
= (x=578.32, 0=1.11)

w—— Residual*5

Y=1719 (dx=-2.1e-02, do=1.1e-02)

= I pfsArm
1 = (x=581.50, 0=1.12)

1 calExp
= (x=581.48, 0=1.13)

m—— Residual*5
= Trace

1

Y=2702 (dx=-3.2e-02, do=7.5e-04)
T
| F:igrzzmt:.gs,a=1.11)
1 calExp

m—(x=580.90, 0=1.11)
w— Residual*5
- Trace

1
Y=3684 (dx=-9.9e-03, do=6.3e-02)
T
1 = r;iAs;Ts‘zg, 0=1.12)
| - lch:E;(;G.ZB, 0=1.18)

- mm Residual*5
w— | Trace

560 570 580 590

Y=982 (dx=9.6e-03, do=-4.0e-03)

pfsArm
1 = (x=579.51, 0=1.12)
1 calExp

= (x=579.52, 0=1.12)
m— Residual*s
== Trace

O 1
1

Y=1965 (dx=-1.2e-02, do=1.5e-02)

T pfsArm
1 = (x=581.68, 0=1.11)
1 calExp

= (x=581.67, 0=1.12)

m—— Residual*5
= Trace

1

Y=2947 (dx=-4.1e-02, do=-3.7e-03)
T
1 = F:iAsramo.zs, 0=1.12)
1 calExp

m—(x=580.20, 0=1.11)
m—— Residual*5
= Trace

1
Y=3930 (dx=-9.2e-03, do=8.8e-02)
T

pfsArm
1 = (x=574.22, 0=1.11)
| calExp
= (x=574.21, 0=1.20)

m—— Residual*5
= Trace

560 570 580 590
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Y=245 (dx=6.7e-02, do=2.7e-02)

f=574, X=547.9

Y=491 (dx=5.2e-02, do=1.5e-02)

pfsArm pfsArm
1 = (x=543.82, 0=1.15) 1 = (x=545.83, 0=1.15)
1 calExp 1 calExp

= (x=543.89, 0=1.18)
mm Residual*5
== Trace

= (x=545.88, 0=1.17)
s Residual*5
w | Trace

Y=1228 (dx=1.3e-02, do=1.2e-02)

Y=1473 (dx=-3.9e-03, do=-3.6e-03)

T pfsArm - T pfsArm
1 = (x=549.67, 0=1.14) 1 = (x=550.36, 0=1.12)
1 calExp 1 calExp
= (x=549.68, 0=1.15) = (x=550.36, 0=1.12)
m— Residual*5 T m= Residual*5

== Trace

i Trace

1

Y=2210 (dx=-3.7€-02, do=8.1e-03) Y=2456 (dx=-3.3e-02, do=-1.1e-02)
T
| I f:i‘;'g“) 90, 0=1.15) 1 — r;?sr;%.er 0=1.14)
I — (C;‘:E;_’PO 86, 0=1.15) T I [r— 1C>?I=E.’:(.">)O.63, 0=1.13)

m—Residual*5
= Trace

m— Residual*5
w— Trace

Y=3193 (dx=-3.5e-02, do=1.7e-02) Y=3439 (dx=-2.9e-02, do=4.4e-02)
T pfsArm T pfsArm
1 = (x=548.44, 0=1.13) 1 = (x=547.09, 0=1.12)
I r— rj‘:ESXL;)B 40, 0=1.15) 1 I [r— lch:E;4p7.D7, 0=1.17)

mm—Residual*5

m Residual*5
w— Trace

540 550 560

540 550 560

Y=736 (dx=3.4e-02, do=1.7e-03)
T

pfsArm
1 = (x=547.47, 0=1.13)
1 calExp
= (x=547.50, 0=1.13)

w— Residual*5
= Trace

Y=1719 (dx=-9.0e-03, do=-1.4€-02)

1 I pfsArm
1 = (x=550.75, 0=1.14)
1 calExp
= (x=550.75, 0=1.13)
T m— Residual*s

i Trace

Y=2702 (dx=-3.6e-02, do=-3.1e-03)
T

- pfsArm
1 = (x=55021, 0=1.12)
1 calExp

m—(x=550.17, 0=1.12)
1 m—— Residual*5
| Trace

Y=3684 (dx=-1.5e-02, do=6.5e-02)

T pfsArm
1 = (x=545.38, 0=1.13)
| calExp

= (x=545.36, 0=1.20)

m—— Residual*5
w— Trace

530 540 550 560

Y=982 (dx=3.5e-02, do=3.3e-03)
T

pfsArm
1 = (x=548.71, 0=1.15)

1 calExp
= (x=548.75, 0=1.15)

m— Residual*5
== Trace

1
Y=1965 (dx=-9.9e-03, do=-2.8e-03)
-1 T
| ?I?srgt‘l.%, 0=1.15)
1 calExp

= (x=550.92, 0=1.15)
m— Residual*s
== Trace

1
Y=2947 (dx=-2.3e-02, do=-3.6e-03)
_ T
1 = ?Iigr‘;“sa.ae, 0=1.14)
I r— ((:|=E5xfg.43,a=1.14;

m—— Residual*5

Y=3930 (dx=-8.8e-03, do=1.0e-01)
T
1 = FxfiAsrfawa.zs, 0=1.13)
| = (cxalesxfaza, 0=1.23)

- m—— Residual*5

530 540 550
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Y=245 (dx=5.0e-02, do=7.8e-02)

f=583, X=492.2

Y=491 (dx=5.9e-02, do=3.7e-02)

Y=736 (dx=5.2e-02, do=2.8e-02)

= (x=487.83, 0=1.32)
m—Residual*s

pfsArm pfsArm pfsArm
| = (x=48778,0=124) 1 = (x=490.00, 0=1.14) 1 = (x=491.62, 0=1.19)
1 calExp 1 calExp 1 calExp
= (x=491.67, 0=122)

= (x=490.06, 0=1.18)
w—— Residual*5
- w | Trace

- = Trace

Y=1228 (dx=9.3e-03, do=-7.9e-03)

Y=1473 (dx=-2.6e-04, do=-2.4e-03)

= (x=494.03, 0=1.13)
mmResidual*5
== Trace

T pfsArm pfsArm
1 = (x=494.02, 0=1.14) 1 = (x=494.65, 0=1.19)
1 calExp 1 calExp

= (x=494.65, 0=1.19)

m—— Residual*5
= Trace

m—Residual*5

1 1

Y=2210 (dx=-4.7e-02, do=-2.2€-03) Y=2456 (dx=-2.9e-02, do=-1.6e-02)
I pfsArm -1 I pfsArm
1 = (x=495.32, 0=1.13) 1 = (x=495.05, 0=1.12)
I e (C;‘:Efgps 27,0=1.13) 1 r— SI:E:S;)S.OZ, 0=1.10)

m— Residual*5
w— Trace

mm—Residual*5
= Trace

1
Y=3193 (dx=-1.6e-02, do=2.3e-02) Y=3439 (dx=-3.6e-02, do=3.3e-02)
T pfsArm T pfsArm
| = (x=492.60, 0=1.17) 1 — (x=491.22, 0=1.13)
1 = rf‘:EA;(sz.sa, 0=1.19) N 1 o lch:E:gl.ls, 0=1.16)

m Residual*5
w— Trace

480 490 500

480 490 500

w— Residual*5

1
Y=1719 (dx=-1.3e-02, do=-7.8e-03)
T
1 = gi{gng, 0=1.13)
1 — calExp
(x=495.15, 0=1.12)

m—— Residual*5
= Trace

Y=982 (dx=2.4e-02, do=-6.5e-03)

T pfsArm
1 = (x=493.02, 0=1.14)
1 calExp

= (x=493.04, 0=1.13)
m— Residual*5
== Trace

1

Y=1965 (dx=-3.6e-02, do=4.1e-03)
T
1 = ?Izlrg‘sjti,a:l.nb
1 calExp

= (x=495.31, 0=1.14)
m— Residual*s

Y=2947 (dx=-3.0e-02, do=1.0e-02)

1

Y=2702 (dx=-5.5e-02, do=-8.9e-03)
T
1 = F:S:Aélr9m4.50,0=1.15)
1 calExp

m—(x=494.44, 0=1.14)
m—— Residual*5

pfsArm

| ™ (x=493.67,0=1.19)
1 calExp

—(x=493.64, 0=1.20)

m—— Residual*5
== Trace

1
Y=3684 (dx=-7.1e-02, do=7.3e-02)

T pfsArm
1 = (x=489.40, 0=1.14)
| calExp

= (x=489.33, 0=122)

m—— Residual*5

1

Y=3930 (dx=-3.4e-02, do=8.0e-02)
T
1 = F;S:irg.u,u:ms;
| = ?:557.14, 0=1.21)

m— Residual*5
= Trace

480 490 500

480 490 500
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Y=245 (dx=8.7e-02, do=-1.5e-03)

f=584, X=486.0

Y=491 (dx=7.3e-02, do=5.4e-03)

pfsArm
= (x=481.63, 0=1.18) 1

calExp
= (x=48171, 0=1.18)
m— Residual*s
w | Trace

pfsArm
= (x=483.75, 0=1.17)

calExp
= (x=483.82, 0=1.18)
w—— Residual*5
w | Trace

pfsArm

- = (x=487.78, 0=1.17)
calExp

= (x=487.80, 0=1.15)

e Residual*5

= Trace

1 pfsArm I
= (x=488.52, 0=1.17) 1
calExp

= (x=488.51, 0=1.14)
w— Residual*5
= Trace

calExp 1
= (x=489.16, 0=1.14)

mm= Residual*5
= == Trace

1 1

Y=2210 (dx=-3.0e-04, do=-2.6e-02) Y=2456 (dx=-6.9e-02, do=-8.5€-03)
pfsArm I pfsArm I
= (x=489.16, 0=1.16) 1 = (x=488.83, 0=1.15) 1

calEx
m—(x=488.76, 0=1.14)
m— Residual*5
— == Trace

Y=3193 (dx=-2.4e-02, do=1.5e-02) Y=3439 (dx=-3.3e-02, do=3.2e-02)
. pfsArm T pfsArm T
= (x=486.44, 0=1.16) 1 = (x=485.04, 0=1.17) 1

calExp
= (x=486.42, 0=1.18)
m—— Residual*s
= Trace

calExp
= (x=485.01, 0=1.20)
= === Residual*5
= Trace

470 480 490 500

470 480 490 500

| = (x=485.47, 0=1.17) 1

. pfsArm

| = Trace

Y=736 (dx=5.3e-02, do=-7.2e-03)

pfsArm

calExp
= (x=485.52, 0=1.17)
m— Residual*s
== Trace

Y=1719 (dx=-5.2e-03, do=-1.5e-02)

= (x=489.01, 0=1.18) 1

calExp
= (x=489.01, 0=1.16)
m— Residual*5

== Trace

| = Tace

Y=2702 (dx=-3.8e-02, do=-2.8e-02)

Y=982 (dx=3.3e-02, do=-5.2e-03)

pfsArm T
= (x=486.78, 0=1.17) 1

calExp
= (x=486.81, 0=1.17)

m— Residual*5
== Trace

1
Y=1965 (dx=-3.7e-03, do=-2.1e-02)

pfsArm
= (x=489.19, 0=1.16)

calExp
— (x=489.19, 0=1.14)
m— Residual*s

pfsArm
=== (x=488.34, 0=1.16)

calExp
= (x=488.30, 0=1.13)

m—— Residual*5

—

7| == Trace

1
Y=2947 (dx=9.3e-03, do=-1.0e-02)
T
= E):5=A4rg7.53,0=1.1ﬁb 1
calEx|

m—(x=487.54, 0=1.15)
m— Residual*5

pfsArm
= (x=48321, 0=1.17)
calExp
= (x=483.15, 0=124)
m— Residual*5
- Trace

470 480 490

pfsArm
m—(x=480.89, 0=1.16) 1

calExp
= (x=480.85, 0=1.22)
m— Residual*5
= Trace

470 480 490
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Y=245 (dx=1.5e-02, do=4.8e-02)

f=616, X=287.0

Y=491 (dx=6.6e-02, do=2.6e-02)

T pfsArm
| ™ (x=281.96,0=1.13)
1 calExp

= (x=281.97, 0=1.18)

mm Residual*5
== Trace

pfsArm
1 = (x=284.50, 0=1.14)
1 calExp
= (x=284.57, 0=1.17)

w—— Residual*5
= Trace

= (x=289.32, 0=1.14)

mm Residual*5
= Trace

1 1
Y=1228 (dx=1.2e-02, do=6.0e-03) Y=1473 (dx=1.4e-02, do=3.0e-03)
I pfsArm I pfsArm
1 = (x=289.31, 0=1.13) 1 = (x=290.16, 0=1.13)
1 calExp 1 calExp

— (x=290.17, 0=1.13)
w— Residual*5
= Trace

m——Residual*5

1 1
Y=2210 (dx=-1.3e-02, do=-7.4e-03) Y=2456 (dx=-2.0e-02, do=-7.1e-03)
I pfsArm I pfsArm
1 = (x=290.83, 0=1.12) 1 = (x=290.50, 0=1.12)
1 [ (cf‘fzxgpo.sz, 0=1.11) _ 1 r— SI:szepo,as, 0=1.12)

m— Residual*5

Y=3193 (dx=-5.4e-02, do=-5.8e-03)

Y=3439 (dx=-5.0e-02, do=8.7e-03)

mm—Residual*5
= Trace

T pfsArm - T pfsArm
1 = (x=287.54, 0=1.13) 1 = (x=285.79, 0=1.13)
| calExp | calExp

- = (x=287.48, 0=1.12) = (x=285.74, 0=1.13)

mm—Residual*5
= Trace

280 290 300

270 280 290 300

T T pfsArm
1 = (x=286.51, 0=1.14)
1 calExp

1 i Trace

Y=736 (dx=3.4e-02, do=1.2e-02)

= (x=286.55, 0=1.16)
w— Residual*5
== Trace

- T pfsArm
1 = (x=288.11, 0=1.13)
1 calExp

1

Y=1719 (dx=7.3e-03, do=-1.4e-02)
T
1 = ?;iAzrgr%m, 0=1.13)

1 calExp
= (x=290.68, 0=1.11)
w—— Residual*5

Y=2702 (dx=-4.1e-02, do=-1.3e-02)

pfsArm
| =™ x=289.83,0=112)
1 calExp

m—(x=289.79, 0=1.11)
m—— Residual*5
| Trace

Y=3684 (dx=-6.6e-02, do=2.2e-02)

T pfsArm
1 = (x=283.60, 0=1.16)
| calExp
- = (x=283.53, 0=1.18)
w— Residual*5

= Trace

270 280 290

Y=982 (dx=1.8e-02, do=1.8e-02)

= (x=288.13, 0=1.15)
m— Residual*5
== Trace

1
Y=1965 (dx=-7.4e-03, do=1.5e-02)
T
1 = ?;iAzrgr%vsa 0=1.12)

1 calExp
= (x=290.88, 0=1.13)
m— Residual*5

1
Y=2947 (dx=-2.6e-02, do=-1.7e-03)

pfsArm
| = (x=288.85,0=1.13)

1 calExp
= (x=288.83, 0=1.13)

m—— Residual*5

Y=3930 (dx=-9.2e-02, do=7.0e-02)

pfsArm
| ™ (x=280.92,0=1.13)

calExp
= (x=280.82, 0=1.20)
m— Residual*5
-1 = Trace

270 280 290
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Y=245 (dx=5.1e-03, do=5.2e-02)

f=636, X=162.4

Y=491 (dx=6.9e-02, do=3.1e-02)

T pfsArm
| ™ x=156.86,0=114)

1 calExp
- (x=156.87, 0=1.19)

mm Residual*5
== Trace

T pfsArm
1 = (x=159.66, 0=1.15)
1 calExp

= (x=159.73, 0=1.18)

e Residual*5
== Trace

Y=736 (dx=2.6e-02, do=1.9e-02)

= (x=164.98, 0=1.14)
mmResidual*5
== Trace

1 1

Y=1228 (dx=2.4e-02, do=-2.1e-03) Y=1473 (dx=5.9e-05, do=-2.4e-03)
I fsArm I pfsArm
| ™ (x=164.95,0=115) | ™ (x=165.91,0=1.13)
| e | - 1C:|=E1X§5‘91, 0=1.13)

m—— Residual*5
= Trace

m—Residual*5
= Trace

1 1
Y=2210 (dx=-4.6e-02, do=-1.3e-02) Y=2456 (dx=-3.8e-02, do=-1.1e-02)
I pfsArm I pfsArm
1 = (x=166.70, 0=1.13) 1 = (x=166.33, 0=1.13)
1 — calixp _ 1  calExp
(x=166.65, 0=1.11) (x=166.29, 0=1.12)

m— Residual*5

pfsArm
- 1 = (x=165.57, 0=1.13)
1 calExp

Y=3193 (dx=-7.0e-02, do=1.1e-02)

Y=3439 (dx=-1.0e-02, do=4.1e-02)

mm—Residual*5
= Trace

pfsArm T pfsArm
1 = (x=162.96, 0=1.12) n 1 = (x=161.08, 0=1.14)

-1 | calExp | calExp
= (x=162.89, 0=1.13) = (x=161.07, 0=1.18)

m Residual*5

T pfsArm
| =™ x=161.88 0=114)
1 calExp

= (x=161.90, 0=1.15)
w— Residual*5
== Trace

Y=982 (dx=2.8e-02, do=9.5e-03)

T pfsArm
1 === (x=163.65, 0=1.15)
1 calExp

= (x=163.67, 0=1.16)
m— Residual*5
== Trace

1
Y=1719 (dx=7.4e-03, do=-6.8e-03) Y=1965 (dx=1.7e-02, do=2.8e-03)
T T
1 = ?;i?e.sz,o:l.u) 1 — ?;iréne.m, 0=1.14)
1 — calexp 1 — calexp
(x=166.53, 0=1.13) - (x=166.77, 0=1.14)
e Residual*5 e Residual*5
-— Trace

Y=2702 (dx=-1.5e-02, do=-1.0e-02)

m—(x=165.56, 0=1.12)
m—— Residual*5
| Trace

Y=3684 (dx=-1.6e-02, do=6.6e-02)

T pfsArm
1 = (x=158.63, 0=1.13)
| calExp

= (x=158.61, 0=1.20)

m—— Residual*5
w— Trace

™

150 160 170

150 160 170

150 160 170

1
Y=2947 (dx=-2.7e-02, do=-2.3e-02)
T
1 = ?Ii‘\lrgn.as, 0=1.14)
N 1 — albxp
(x=164.46, 0=1.11)

m—— Residual*5
== Trace

Y=3930 (dx=-6.1e-02, do=1.1e-01)

. T pfsArm
1 = (x=155.64, 0=1.13)

| calExp
= (x=155.58, 0=124)

N m— Residual*5

140 150 160 170



